TCS PLACEMENT PAPERS-OFF-CAMPUS INTERVIEW
 

1. Adam sat with his friends in the Chinnaswamy stadium at Madurai to watch the 100 metres running race organized by the Asian athletics Association. Five rounds were run. After every round half the teams were eliminated. Finally, one team wins the game. How many teams participated in the race?

 

a) 30
b) 32 -Answer
c) 41
d) 54

 

2. From the top of a 9 metres high building AB, the angle of elevation of the top of a tower CD is 30º and the angle of depression of the foot of the tower is 60º. What is the height of the tower?

 

a) 12 -Answer
b) 18
c) 9
d) 15

 

3. 49 members attended the party. In that 22 are males, 27 are females. The shake hands are done between males, females, male and female. Total 12 people given shake hands. How many such kinds of such shake hands are possible?

 

a) 122
b) 66 -Answer
c) 48
d) 128

 

4. Ferrari S.P.A is an Italian sports car manufacturer based in Maranello, Italy. Founded by Enzo Ferrari in 1928 as Scuderia Ferrari, the company sponsored drivers and manufactured race cars before moving into production of street-legal vehicles in 1947 as Ferrari S.P.A. Throughout its history, the company has been noted for its continued participation in racing, especially in Formula One where it has employed great success. Rohit once bought a Ferrari. It could go 4 times as fast as Mohan’s old Mercedes. If the speed of Mohan’s Mercedes is 35 km/hr and the distance traveled by the Ferrari is 490 km, find the total time taken for Rohit to drive that distance.

 

a) 20.72
b) 3.5 -Answer
c) 238.25
d) 6.18

 

5. A sheet of paper has statements numbered from 1 to 40. For all values of n from 1 to 40, statement n says: ‘Exactly n of the statements on this sheet are false.’ Which statements are true and which are false?

 

a) The even numbered statements are true and the odd numbered statements are false.
b) The odd numbered statements are true and the even numbered statements are false.
c) All the statements are false.
d) The 39th statement is true and the rest are false.-Answer

 

6. If there are 30 cans out of them one is poisoned if a person tastes very little he will die within 14 hours so if there are mice to test and 24 hours to test, what is the minimum no. of mice’s required to find poisoned can?

 

a) 3
b) 2
c) 5 -Answer
d) 1

 

7. How many 9 digit numbers are possible by using the digits 1, 2, 3, 4, 5 which are divisible by 4 if the repetition is allowed?

 

a) 5^7
b) 5^6
c) 5^9
d) 5^8-Answer

 

8. A hare and a tortoise have a race along a circle of 100 yards diameter. The tortoise goes in one direction and the hare in the other. The hare starts after the tortoise has covered 1/5 of its distance and that too leisurely. The hare and tortoise meet when the hare has covered only 1/8 of the distance. By what factor should the hare increase its speed so as to tie the race?

 

a) 37.80 -Answer
b) 8
c) 40
d) 5

 

9. For the FIFA world cup, Paul the octopus has been predicting the winner of each match with amazing success. It is rumored that in a match between 2 teams A and B, Paul picks A with the same probability as A’s chances of winning. Let’s assume such rumors to be true and that in a match between Ghana and Bolivia; Ghana the stronger team has a probability of 2/3 of winning the game. What is the probability that Paul will correctly pick the winner of the Ghana-Bolivia game?

 

a) 1/9
b) 4/9
c) 5/9 -Answer
d) 2/3

 

10. 36 people {a1, a2… a36} meet and shake hands in a circular fashion. In other words, there are totally 36 handshakes involving the pairs, {a1, a2}, {a2, a3}, …, {a35, a36}, {a36, a1}. Then size of the smallest set of people such that the rest have shaken hands with at least one person in the set is

 

a) 12 -Answer
b) 11
c) 13
d) 18

 

11. There are two boxes, one containing 10 red balls and the other containing 10 green balls. You are allowed to move the balls between the boxes so that when you choose a box at random and a ball at random from the chosen box, the probability of getting a red ball is maximized. This maximum probability is

 

a) 1/2
b) 14/19 -Answer
c) 37/38
d) 3/4

 

12. A circular dartboard of radius 1 foot is at a distance of 20 feet from you. You throw a dart at it and it hits the dartboard at some point Q in the circle. What is the probability that Q is closer to the center of the circle than the periphery?

 

a) 0.75
b) 1
c) 0.5
d) 0.25-Answer


13. There are two water tanks A and B, A is much smaller than B. While water fills at the rate of one liter every hour in A, it gets filled up like 10, 20, 40, 80, 160 in tank B. (At the end of first hour, B has 10 liters, second hour it has 20, third hour it has 40 and so on). If tank B is 1/32 filled after 21 hours, what is the total duration required to fill it completely?

 

a) 26hrs -Answer
b) 25hrs
c) 5hrs
d) 27hrs

 

14. 3 friends A, B, C went for week end party to McDonald’s restaurant and there they measure there weights in some order IN 7 rounds. A, B, C, AB, BC, AC, ABC. Final round measure is 155kg then find the average weight of all the 7 rounds?

 

a) 88.5 -Answer
b) 77.5
c) 50
d) 55

 

15. A grand father has 3 grand children. Age difference of two children among them is 3. Eldest child age is 3 times the youngest child’s age and the eldest child age is two year more than the sum of age of other two children. What is the age of the eldest child?

 

a) 15 -Answer
b) 10
c) 22
d) 18

 

16. In a mixture of a, b, & c, if a and b are mixed in 3:5 ratio and b and c are mixed in 8:5 Ratio and if the final mixture is 35 liters, find the amount of b?

 

a) 13.34
b) 15.73 -Answer
c) 16.73
d) 9.45

 

17. After the typist writes 12 letters and addresses 12 envelopes, she inserts the letters randomly into the envelopes (1 letter per envelope). What is the probability that exactly 1 letter is inserted in an improper envelope?

 

a) 0 -Answer
b) 12/212
c) 11/12
d) 1/12

 

18. 10 suspects are rounded by the police and questioned about a bank robbery. Only one of them is guilty. The suspects are made to stand in a line and each person declares that the person next to him on his right is guilty. The rightmost person is not questioned. Which of the following possibilities are true?

 

A. All suspects are lying.
B. leftmost suspect is innocent.
C. leftmost suspect is guilty

a) A only
b) A or C
c) A or B -Answer
d) B only

 

19. A hollow cube of size 5 cm is taken, with a thickness of 1 cm. It is made of smaller cubes of size 1 cm. If 1face of the outer surface of the cube are painted, totally how many faces of the smaller cubes remain unpainted?


a) 900
b) 488
c) 563 -Answer
d) 800

 

20. My flight takes of at 2am from a place at 18N 10E and landed 10 Hrs later at a place with coordinates 36N70W. What is the local time when my plane landed?


a) 12 noon
b) 6: 40 AM -Answer
c) 5: 20 PM
d) 6:50 AM

 

21. The difference between two no is 9 and the product of the two is 14. What is the square of their sum?

 

a) 120
b) 130 -Answer
c) 137
d) 145

 

22. In a 100m race , A beats B by 15m and B beats C by 10m . If A beats C by 5 sec then find the speed of C.


a) 5 m/sec
b) Speed of C cannot be found with given data
c) 4.7 m/sec -Answer
d) 4 m/sec
e) 4.5 m/sec

 

23. A man, a woman, and a child can do a piece of work in 6 days. Man only can do it in 24 days. Woman can do it in 16 days and in how many days child can do the same work?

 

a) 12
b) 40
c)6 -Answer
d) 8

 

24. Oshkosh did a study of the colors used in African national flags. He found that 38 flags have red, 20 have blue, 13 have both red and blue, and 8 have neither red nor blue. How many flags

 

a. have red but not blue?
b. have blue but not red?
c. were included in the study?

a) 25, 7, 53 -Answer
b) 38, 20, 79
c) 25, 7, 66
d) 30, 20, 60

 

25. Amrith told to Anand in front of a photo that “He is the son of my father's son”�. Find who is in the picture if Amrith have no brothers and sisters.

 

a) Amrith himself
b) Amrith's Uncle
c) Amrith's Father
d) Amrith's Son-Answer
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TCS C Aptitude: Questions

1. The C language terminator is 
(a) semicolon (b) colon (c) period (d) exclamation mark 

2. What is false about the following -- A compound statement is 
(a) A set of simple statements (b) Demarcated on either side by curlybrackets 
(c) Can be used in place of simple statement (d) A C function is not a compound statement. 

3. What is true about the following C Functions 
(a) Need not return any value (b) Should always return an integer 
(c) Should always return a float (d) Should always return more than one value 

4. Main must be written as 
(a) The first function in the program (b) Second function in the program 
(c) Last function in the program (d) Any where in the program 

5. Which of the following about automatic variables within a function is correct ? 
(a) Its type must be declared before using the variable (b) They are local 
(c) They are not initialized to zero (d) They are global 


6. Write one statement equivalent to the following two statements: x=sqr(a);return(x); Choose from one of the alternatives 
(a) return(sqr(a)); (b) printf("sqr(a)"); 
(c) return(a*a*a); (d) printf("%d",sqr(a)); 

7. Which of the following about the C comments is incorrect ? 
(a) Comments can go over multiple lines 
(b) Comments can start any where in the line 
(c) A line can contain comments with out any language statements 
(d) Comments can occur within comments 

8. What is the value of y in the following code? 
x=7; 
y=0; 
if(x=6) y=7; 
else y=1; 
(a) 7 (b) 0 (c) 1 (d) 6 

9. Read the function conv() given below 
conv(int t) 
{ 
int u; 
u=5/9 * (t-32); 
return(u); 
} 
What is returned 
(a) 15 (b) 0 (c) 16.1 (d) 29 

10. Which of the following represents true statement either x is in the range of 10 and 50 or y is zero 
(a) x >= 10 && x <= 50 || y = = 0 (b) x<50 
(c) y!=10 && x>=50 (d) None of these 


11. Which of the following is not an infinite loop ? 
(a) while(1)\{ ....} (b) for(;;){...} 
(c) x=0; (d) # define TRUE 0 
do{ /*x unaltered within the loop*/ ... 
.....}while(x = = 0); while(TRUE){ ....} 

12. What does the following function print? 
func(int i) 
{ 
if(i%2)return 0; 
else return 1; 
} 
main() 
{ 
int =3; 
i=func(i); 


i=func(i); 
printf("%d",i); 
} 
(a) 3 (b) 1 (c) 0 (d) 2 

13. How does the C compiler interpret the following two statements 
p=p+x; 
q=q+y; 

(a) p= p+x; (b) p=p+xq=q+y; (c) p= p+xq; (d) p=p+x/q=q+y; 
q=q+y; q=q+y; 
For questions 14,15,16,17 use the following alternatives: 
a. int b. char c. string d. float 

14. '9' 

15. "1 e 02" 

16. 10e05 

17. 15 

18. Read the following code 
# define MAX 100 
# define MIN 100 
if(x>MAX) 
x=1; 
else if(x<MIN) 
x=-1; 
x=50; 
if the initial value of x=200,what is the value after executing this code? 
(a) 200 (b) 1 (c) -1 (d) 50 

19. A memory of 20 bytes is allocated to a string declared as char *s then the following two
statements are executed: 
s="Entrance" 
l=strlen(s); 
what is the value of l ? 
(a)20 (b)8 (c)9 (d)21 

20. Given the piece of code 
int a[50]; 
int *pa; 
pa=a; 
To access the 6th element of the array which of the following is incorrect? 
(a) *(a+5) (b) a[5] (c) pa[5] (d) *(*pa + 5} 

21. Consider the following structure: 

struct num nam 
{ 
int no; 
char name[25]; 
} 
struct num nam n1[]={{12,"Fred"},{15,"Martin"},{8,"Peter"},{11,Nicholas"}}; 
..... 
..... 
printf("%d%d",n1[2],no,(*(n1 + 2),no) + 1); 
What does the above statement print? 
(a) 8,9 (b) 9,9 (c) 8,8 (d) 8, unpredictable value 

22. Identify the in correct expression 
(a)a=b=3=4; (b)a=b=c=d=0; (c)float a=int b= 3.5; (d)int a; floatb;a=b=3.5; 

23. Regarding the scope of the varibles;identify the incorrect statement: 
(a) automatic variables are automatically initialized to 0 (b) static variables are areautomatically initialized to 0 
(c) the address of a register variable is not accessible (d) static variables cannot be initialized with any expression 

24. cond 1?cond 2?cond 3?:exp 1:exp 2:exp 3:exp 4; is equivalent to which of the following? 
(a) if cond 1 
exp 1; 
else if cond 2 
exp 2; 
else if cond 3 
exp 3; 
else exp 4; 

(b) if cond 1 
if cond 2 
if cond 3 
exp 1; 
else exp 2; 
else exp 3; 
else exp 4; 

(c) if cond 1 && cond 2 && cond 3 
exp 1 |exp 2|exp 3|exp 4; 

(d) if cond 3 
exp 1; 
else if cond 2 exp 2; 
else if cond 3 exp 3; 
else exp 4; 

25. The operator for exponentiation is 
(a) ** (b) ^ (c) % (d) not available 

26. Which of the following is invalid 

(a) a+=b (b) a*=b (c) a>>=b (d) a**=b 

27. What is y value of the code if input x=10 
y=5; 
if (x==10) 
else if(x==9) 
else y=8; 
(a)9 (b)8 (c)6 (d)7 

28. What does the following code do? 
fn(int n, int p, int r) 
{ 
static int a=p; 
switch(n) 
{ 
case 4:a+=a*r; 
case 3:a+=a*r; 
case 2:a+=a*r; 
case 1:a+=a*r; 
} 
} 
(a) computes simple interest for one year (b) computes amount on compoundinterest for 1 to 4 years 
(c) computes simple interest for four year (d) computes compound interest for 1year 

29. 
a=0; 
while(a<5) 
printf("%d\n",a++); 
How many times does the loop occurs? 
(a) infinite (b)5 (c)4 (d)6 

30. How many times does the loop iterated ? 
for(i=0;i=10;i+=2) 
printf("Hi\n"); 
(a)10 (b) 2 (c) 5 (d) None of these 

31. What is incorrect among the following 
A recursive function 
(a) calls itself (b) is equivalent to a loop 
(c) has a termination condition (d) does not have a return value at all 

32. Which of the following go out of the loop if expn 2 becoming false 
(a) while(expn 1)\{...if(expn 2)continue;} (b) while(!expn
1)\{if(expn 2)continue;...} 
(c) do{..if(expn 1)continue;..}while(expn 2); (d) while(!expn
2)\{if(expn 1)continue;..\} 

33. Consider the following program 
main() 
{
unsigned int i=10; 
while(i>=0) 
{ 
printf("%u",i) 
i--; 
} 
} 
How many times the loop will get executed 
(a)10 (b)9 (c)11 (d) infinite 

34.Pick out the odd one out 
(a) malloc() (b) calloc() (c) free() (d) realloc() 

35.Consider the following program 
main() 
{ 
int a[5]={1,3,6,7,0}; 
int *b; 
b=&a[2]; 
} 
The value of b[-1] is 
(a) 1 (b) 3 (c) -6 (d) none 

36. # define prod(a,b)=a*b 
main() 
{ 
int x=2; 
int y=3; 
printf("%d",prod(x+2,y-10)); 
} 
the output of the program is 
(a) 8 (b) 6 (c) 7 (d) None 

37.Consider the following program segment 
int n,sum=1; 
switch(n) 
{ 
case 2:sum=sum+2; 
case 3:sum*=2; 
break; 
default:sum=0; 
} 
If n=2, what is the value of sum 
(a) 0 (b) 6 (c) 3 (d) None of these 

38. Identify the incorrect one 
1.if(c=1) 
2.if(c!=3) 
3.if(a<b)then 
4.if(c==1) 

(a) 1 only (b) 1&3 (c) 3 only (d) All of the above 

39. The format specified for hexa decimal is 
(a) %d (b) %o (c) %x (d) %u 

40. Find the output of the following program 
main() 
{ 
int x=5, *p; 
p=&x 
printf("%d",++*p); 
} 
(a) 5 (b) 6 (c) 0 (d) none of these 

41.Consider the following C code 
main() 
{ 
int i=3,x; 
while(i>0) 
{ 
x=func(i); 
i--; 
} 
int func(int n) 
{ 
static sum=0; 
sum=sum+n; 
return(sum); 
} 
} 
The final value of x is 
(a) 6 (b) 8 (c) 1 (d) 3 

42. Int *a[5] refers to 
(a) array of pointers (b) pointer to an array (c) pointer to apointer (d) none of these 
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1. (38 x 142) ÷ (4096) =? 

1) 337.25 -Answer
2) 269.8 
3) 490 
4) 84.3125 
5) None of these 

2. 3 + 33.3 + 3.03 + 333 =? 

1) 666 
2) 636.33 
3) 372.33 -Answer
4) 672.66 
5) None of these 

3. (17.52)2 =?

1) 280.9504 
2) 290.5904 
3) 306.9504 -Answer
4) 280.5904 
5) None of these 

4. (37% of 2370) – (41% of 2105) =? 

1) 13.85 -Answer
2) 12.56 
3) 13.10 
4) 12.15 
5) None of these 

Directions (Q. 5-14): 

In the following passage there are blanks, each of which has been numbered. 
These numbers are printed below the passage and against each five words are suggested, one of which fits the blank appropriately. Find out the appropriate words. 
It is a 5 that Communists are opposed toeconomic reforms. The fact of the life is that Communists are the most 6 fighters for economic reforms, the reforms that lead to self-reliant and democratic economic development
with social justice. To term the market-oriented changes as reform is a 7. The development strategy 8 under Structural Adjustment and dictated by the World Bank, IMF and WTO is a strategy for the 9 development of capitalism under which the working people, who are the main productive force, are made 10, kept unemployed, thrown out of jobs, and so on. It has no social relevance. In the phase of globalization, no country can develop in 11 and entry of the foreign capital can not be12 altogether. Integration with world economy has to ensure the free and speedy 13 of the national economy. Foreign capital has to be allowed in the areas where we really need huge investment, which our resources cannot meet, and where we need technology, not available in the country. Economic14 should not mean license for plunder by MNCs. 

5. 
1) problem 
2) mysticism 
3) curiosity 
4) misconception -Answer
5) mistake 

6. 
1) liberal 
2) demanding 
3) strident -Answer
4) detrimental 
5) horrible 

7. 
1) misnomer -Answer
2) terrible 
3) danger 
4) tragedy 
5) shame 

8. 
1) reached 
2) verified 
3) assembled 
4) hurled 
5) envisaged -Answer

9. 
1) westernised 
2) unfettered -Answer
3) gross 
4) accumulated 
5) astounding 


10. 
1) labourers 
2) culprit 
3) redundant -Answer
4) escapists 
5) icons 

11. 
1) unison 
2) liberalisation 
3) coalition 
4) association 
5) isolation -Answer

12. 
1) forced 
2) loaded 
3) denied -Answer
4) stated 
5) scrutinised 

13. 
1) development -Answer
2) empowerment 
3) unity 
4) mobilisation 
5) cohesion 

14. 
1) growth 
2) potential 
3) strategy 
4) reforms -Answer
5) vitality 
Directions (Q. 15-24): Given below are two passages. Read them carefully and answer the questions given below them. 
Certain words are given in bold to help you to locate them while answering some of the questions. 

Passage – I 
Americans have a variety of superstitions like walking under a ladder, a black cat crossing your path and the number 13, none of which seem to have a logical reason for being. However, there are no serious taboos attached to them. Individuals may have an array of sensitivities based on their personal beliefs. If you do offend someone inadvertently, a sincere apology will usually go a long way toward making amends. The one sensitivity that almost all Americans have is about slights to their country. Either complaining about the US or expressing an attitude that your culture is superior can cause Americans to take offence. Americans do possess a great deal of culture arrogance, and think that their way is the only right way. They think that the US is the best place on earth, otherwise why would everybody by trying to get here? Whether you agree or not, remember that you are a guest in the US and it would be rude for a guest to insult his host 

15. Which of the following can be presumed about Americans regarding superstition? 
1) It is a cultural custom for them to believe in superstitions. 
2) They can satisfy you by placing arguments about the validity of superstitions. 
3) Americans cannot justify their adherence to superstitions. -Answer
4) Americans are highly superstitious people. 
5) None of these 

16. If you offend an American inadvertently, a sincere apology will 
1) take a long time to repair the damage. 
2) not necessarily by enough to amend it. 
3) be turned down. 
4) succeed in making amends. -Answer
5) None of these 

17. Americans feel usually offended whenever there is a(n) 
1) argument posed before them. -Answer
2) rude remark against their culture. -Answer
3) threat to their sovereignty. 
4) attack on their religion. 
5) None of these 

18. What makes the Americans feel that their country is the best in the world? 
1) mad rush of people from other countries to America 
2) the best facilities available there 
3) their culture and custom which they feel is the best in the world 
4) the economic superiority of America 
5) None of these 

19. What is the antonym of the word inadvertently as given in bold in the passage? 
1) intentionally -Answer
2) occasionally 
3) unwittingly 
4) avowedly 
5) adroitly 


Passage – II 
Population is one resource that never depletes and is a living development parameter. But it is at times interpreted as a hindering factor for development. This happens because population is both a consumer and producer. There are two schools of thought. One which treats population as a resource, and the other as a burden to the society. The truth, in fact, lies somewhere in between. The interplay of factors responsible for population growth and those for development decide the resourcefulness of population. 

20. Why is it said that population is one resource that never depletes? 
1) because other resources deplete 
2) because population is an ever-increasing phenomenon -Answer
3) because population is seen as a resource 
4) because it is an easily available commodity 
5) None of these 

21. Why population is at the same time treated as a resource and also as a burden to the society? 
1) because population is the creator and at the same time it is also the user -Answer
2) because a less number of people are engaged in production and a large number of people are dependent on it 
3) because population is not always a producer but it is always a consumer 
4) when the growth of population is checked it is a resource and when it increases rapidly it is burden to the society 
5) None of these 

22. The resourcefulness of population can be decided by 
(i) skilled manpower (ii) scale of development (iii) population control measures (iv) scale of population growth 
1) All of the above 
2) Only (i), (ii) and (iii) 
3) Only (i) and (iii) -Answer
4) Only (ii) and (iv) 
5) None of these 

23.Which of the following is true in context of the passage? 
1) It is not necessary that the population always grows. 
2) Population is burdensome. 
3) Most of the natural resources are exhaustible. -Answer
4) Population is a big consumer and a meager producer. 
5) None of these 

24.What will be the synonym of the word depletes as given in bold in the passage? 
1) disappears 
2) sustains 
3) worsens 
4) evades 
5) reduces -Answer

25. – 65 x39 + 335 =? 
1) – 849225 
2) – 2200 -Answer
3) – 2870 
4) 2870 
5) None of these 

TCS TCS Model Question Paper Given Below 

TCS Questions 
Note: 1 mark will be deducted for every 3 wrong answers Quantitative/aptitude test (35 questions, 80 minutes) 

1. A Roman was born the first day of the 35th year before Christ and died the first day of the 35th year after Christ. How many years did he live?
(a) 70 (b) 69 (c) 71 (d) 72 

2. A horse starts to chase a dog that has left the stable two hours earlier. The horse runs at an average speed of 2km/hr. It crosses a 10-metre road, two small ponds 3 metres deep, and finally runs along two small streets of 200 metres long. After traveling 6 hrs, 2hrs after sunset, it catches the dog. Compute the speed of the dog in Km/hr?
(a) 20 (b) 22 (c) 16.5 (d) 18.5 

3. Adam sat with his friends in the Chinnaswamy stadium at Madurai to watch the 100 metres running race organized by the Asian Athletics Association. Five rounds were run. After every round half the teams were eliminated. Finally, one team wins the game. How many teams participated in the race?
(a) 30 (b) 32 (c) 41 (d) 54 

4. If an airplane starts at point R and travels 14 miles directly north to S, then 48 miles directly east to T, what is the straight-line distance (in miles) from T to R?
(a) 25 (b) 34 (c) 50 (d) 2500 

5. A scientist was researching into animal behavior in his laboratory. He was very interested in studying the behavior of bears. He travelled a mile to the north and reached the north pole.There he saw a bear. He then followed the bear for an 1 hour to the east with a speed of 2km/hr. After that he travelled south and reached his laboratory in 2 hours. What was the colour of the bear?
(a) Black (b) White (c) Red (d) Blue 


6. A garrison of 3300 men has provisions for 32 days when supplied at the rate of 850 g per head. At the end of 7 days, a reinforcement arrives, and it is found that the provisions can last for 17 days more when supplied at the rate of 825 g per head. What is the strength of the reinforcement?
(a) 1700 (b) 1000 (c) 3000 (d) 2700 

7. Two unemployed young men decided to start a business together. They pooled in their savings, which came to Rs. 2,000. They were both lucky, their business prospered and they were able to increase their capital by 50 per cent every three years. How much did they have in all at the end of eighteen years?
(a) Rs. 22,781.25 (b) Rs. 24,150.25 (c) Rs. 28,140.50 (d) Rs. 18,000 

8. A man divides Rs.8600 among 5 sons, 4 daughters and 2 nephews. If each daughter receives four times as much as each nephew, and each son receives five times as much as each nephew, how much does each aughter receive?
(a) Rs.800 (b) Rs.600 (c) Rs.200 (d) Rs.700 

9. A train starts full of passengers. At the first station, it drops one-third of the passengers and takes 280 more. At the second station, it drops one-half of the new total and takes 12 more. On arriving at the third station, it is found to have 248 passengers. Find the number of passengers in the beginning.
(a) 240 (b) 248 (c) 280 (d) 288 

10. A manufacturer undertakes to supply 2000 pieces of a particular component at Rs.25 per piece. According to his estimates, even if 5% fail to pass the quality tests, then he will make a profit of 25%. However, as it turned out, 50% of the components were rejected. What is the loss to the manufacturer?
(a) Rs.12000 (b) Rs.13000 (c) Rs.14000 (d) Rs.15000 

11. In Tnagar many buildings were under residential category. for buildings they number as 1 to 100. For shops, corporation numbered between 150 and 200 only prime numbers. howmany time 6 will appear in building numbering?
(a) 10 (b) 20 (c) 8 (d) 19 

12. 6 persons standing in queue with different age group, after two years their average age will be 43 and seventh person joined with them. hence the current average age has become45. find the age of seventh person?
(a) 69 (b) 70 (c) 40 (d) 45 

13. 3, 22 , 7, 45, 15, ? , 31
(a) 45 (b) 90 (c) 91 (d) 35 

14. Which is the smallest no divides 2880 and gives a perfect square?
(a) 1 (b) 2 (c) 5 (d) 6 

15. One grandfather has three grandchildren, two of their age difference is 3, eldest child age is 3 times youngest childs age and eldest childs age is two times of sum of other two children. What is the age of eldest child?
(a) 5 (8) 10 (c) 8 (d) 15 

16. It is dark in my bedroom and I want to get two socks of the same color from my drawer, which contains 24 red and 24 blue socks. How many socks do I have to take from the drawerto get at least two socks of the same color?
(a) 2 (b) 3 (c) 48 (d) 25 

17. 23 people are there, they are shaking hands together, how many hand shakes possible, if they are in pair of cyclic sequence.
(a) 22 (b) 23 (c) 44 (d) 46 

18. There are 10 reading spots in a room. Each reading spot has a round table. Each round table has 4 chair. If different no of persons are sitting at each reading spot. And if there are 10 persons inside the room then how many reading spots donot have atleast a single reader.
(1) 5 (2) 6 (3) 7 (4) None 

19. Middle earth is a fictional land inhabited by Hobbits, Elves, dwarves and men. The Hobbits and the Elves are peaceful creatures who prefer slow, silent lives and appreciate nature and art. The dwarves and the men engage in physical games. The game is as follows .
A tournol is one where out of the two teams that play a match, the one that loses get eliminated. The matches are played in different rounds where in every round , half of the teams get eliminated from the tournament. If there are 8 rounds played in a knock-out tournol how many matches were played?
(a) 257 (b) 256 (c) 72 (d) 255 

20. There are two water tanks A and B, A is much smaller than B. While water fills at the rate of one litre every hour in A, it gets filled up like 10, 20, 40, 80, 160... in tank B. ( At the end of first hour, B has 10 litres, second hour it has 20, and so on). If tank B is 1/32 filled after 21 hours, what is the total duration required to fill it completely?
(a) 26 hrs (b) 25 hrs (c) 5 hrs (d) 27 hrs 

21. A man jogs at 6 mph over a certain journey and walks over the same route at 4 mph. What is his average speed for the journey?
(a) 2.4 mph (b) 4 mph (c) 4.8 mph (d) 5 mph 

22. A pizza shop, there were 2 kinds of pizzas available. But now they have introduces 8 new types, a person buy two different type pizzas of new type in how many ways he can select?28
(a) 24 (b) 43 (c) 56 (d) 58 

23. A box of 150 packets consists of 1kg packets and 2kg packets. Total weight of box is 264kg. How many 2kg packets are there?
(a) 100 (b) 114 (c) 200 (d) 208 

24. A man, a woman, and a child can do a piece of work in 6 days. Man only can do it in 24 days. Woman can do it in 16 days and in how many days child can do the same work?
(a) 8 (b) 14 (c) 16 (d) 18 

25. A bus started from bus stand at 8.00a m and after 30 min staying at destination, it returned back to the bus stand. The destination is 27 miles from the bus stand. The speed of the bus 50 percent fast speed. At what time it returns to the bus stand.
(a) 11a.m (b) 12a.m (c) 10a.m (d) 10.30p.m 


26. 2 oranges, 3 bananas and 4 apples cost Rs.15. 3 oranges, 2 bananas, and 1 apple costs Rs 10. What is the cost of 3 oranges, 3 bananas and 3 apples?
(a) Rs10 (b) Rs15 (c) Rs20 (d) Rs25 

27. If on an item a company gives 25% discount, they earn 25% profit. If they now give 10% discount then what is the profit percentage.
(a) 40% (b) 55% (c) 35% (d) 30% 

28. Two trains move in the same direction at 50 kmph and 32 kmph respectively. A man in the slower train observes the 15 seconds elapse before the faster train completely passes by
him. What is the length of faster train?
(a) 100m (b) 75m (c) 120m (d) 50m 

29. A man spends half of his salary on household expenses, 1/4th for rent, 1/5th for travel expenses, the man deposits the rest in a bank. If his monthly deposits in the bank amount 50,
what is his monthly salary?
(a) Rs.500 (b) Rs.1500 (c) Rs.1000 (d) Rs. 900 

30. It was Sunday on Jan 1, 2006. What was the day of the week Jan 1, 2010
(a) Sunday (b) Saturday (c) Friday (d) Wednesday 

31. In how many different ways can the letters of the word 'LEADING' be arranged in such a way that the vowels always come together?
(a) 360 (b) 480 (c) 720 (d) 5040 

32. The captain of a cricket team of 11 members is 26 years old and the wicket keeper is 3 years older. If the ages of these two are excluded, the average age of the remaining players isone year less than the average age of the whole team. What is the average age of the team?
(a) 23 years (b) 24 years (c) 25 years (d) None of these 

33. Six bells commence tolling together and toll at intervals of 2, 4, 6, 8 10 and 12 seconds respectively. In 30 minutes, how many times do they toll together?
(a) 4 (b) 10 (c) 15 (d) 16 

34. The difference of two numbers is 1365. On dividing the larger number by the smaller, we get 6 as quotient and the 15 as remainder. What is the smaller number?
(a) 240 (b) 270 (c) 295 (d) 360 

35. In a flight of 600 km, an aircraft was slowed down due to bad weather. Its average speed for the trip was reduced by 200 km/hr and the time of flight increased by 30 minutes. The
duration of the flight is:
(a) 1 hour (b) 2 hours (c) 3 hours (d) 4 hours 

TCS Model 1 
1. (1/2) of a number is 3 more than the (1/6) of the same number?
a) 6 b) 7 c) 8 d) 9 
Solution:
Let the number be x,
((1/2)*x)=3+(1/6)*x,
Then solve x = 9. 

2. (1/3) of a number is 3 more than the (1/6) of the same number?
a) 6 b) 16 c) 18 d) 21 

3. (1/3) of a number is 6 more than the (1/6) of the same number?
a) 6 b) 18 c) 36 d) 24 

4. (2/3) of a number is 4 more than the (1/6) of the same number?
a) 6 b) 8 c) 36 d) 24 

5. (1/3) of a number is 5 more than the (1/6) of the same number?
a) 6 b) 36 c) 30 d) 72 

TCS Model 2:

1. There are two water tanks A and B, A is much smaller than B. While water fills at the rate of 1 liter every hour in A, it gets filled up like, 10, 20, 40, 80, 160 in tank B. (At the end of first hour, B has 10 liters, second hour it has 20 liters and so on). If tank B is 1/32 filled of the 21 hours, what is total duration of hours required to fill it completely?
a) 26 B)25 c)5 d)27 
Solution: for every hour water in tank in B is doubled, 
Let the duration to fill the tank B is x hours.
x/32 part of water in tank of B is filled in 21 hours, 
Next hour it is doubled so, 
2*(x/32) part i.e (x/16) part is filled in 22 hours,
Similarly (x/8)th part in 23 hours,(x/4)th part is filled in 24 hours, 
(x/2)th part is filled in 25 hours, (x)th part is filled in 26 hours
So answer is 26 hours. 

2. There are two pipes A and B. If A filled 10 liters in an hour, B can fill 20 liters in same time. Likewise B can fill 10, 20, 40, 80, 160. If B filled in 1/16 of a tank in 3 hours, how much time will it take to fill the tank completely?
a) 9 B) 8 c) 7 d) 6 

3. There are two water tanks A and B, A is much smaller than B. While water fills at the rate of 1 liter every hour in A, it gets filled up like, 10, 20, 40,80, 160...in tank B. 1/8 th of the tank B is filled in 22 hours. What is the time to fill the tank fully?
a) 26 B) 25 c) 5 d) 27 

4. A tank is filled with water. In first hour 10 liters, second hours 20 liters, and third hour 40 liters and so on. If time taken to fill of the tank if 5 hours. What is the time taken to fill up the tank?
a) 5 B) 8 c) 7 d) 12.5 

5. If a tank A can be filled within 10 hours and tank B can be filled in 19 hours then, what is the time taken to fill up the tank completely?
a) 21 B) 38 c) 57 d) 76 
TCS Model 3:

1. 6 persons standing in queue with different age group, after two years their average age will be 43 and seventh person joined with them. Hence the current average age has become 45.Find the age of seventh person?
a) 43 b) 69 c) 52 d) 31 

Solution:
Total age of 6 persons is x hours,after two years total age of 6 persons is x+12
Average age of 6 persons is after two years is 43
So (x+12)/6=43,then solve x,
After 7th person is added then (x+7th person age)/7=45
So we will get 7th person age easily 

2. In a market 4 men are standing. The average age of the four before 4years is 45, after some days one man is added and his age is 49. What is the average age of all?
a) 43 b) 45 c) 47 d) 49 

3. In a shopping mall with a staff of 5 members the average age is 45 years. After 5 years a person joined them and the average age is again 45 years. What�s the age of 6th person? 
a) 25 b)20 c)45 d)30 

4. In a market 4 men are standing .The average age of the four before 2 years is 55, after some days one man is added and his age is 45. What is the average age of all?
a) 55 b) 54.5 c) 54.6 d) 54.7 

TCS Model 4: 
1. In the reading room of a library, there are 23 reading spots. Each reading spot consists of a round table with 9 chairs placed around it. There are some readers such that in each occupied
reading spot there are different numbers of readers. If in all there are 36 readers, how many reading spots do not have even a single reader?
a) 8 b) none c) 16 d) 15 
Solution: 23 reading spots, Each reading spot consists of 9 chairs placed around it so There are some readers such that in each occupied reading spot there are different numbers of
readers. For each table different no of persons are sat,so for first table 1 person is sit,2nd table 2 persons are sit 36 
readers means(1+2+3+4+5+6+7+8 so 8 tables are filled so 23-8=15 reading spots does not have single reader. 

2. In the reading room of a library, there are 10 tables, 4 chairs per table. In each table there are different numbers of people seated. How many tables will be left out without at least 1 person?
a) 8 b) 6 c) 2 d) 7 

3. In the reading room of a library, there are 10 tables, 4 chairs per table. In each table there are different numbers of people seated. How many ways they will sit in the library so that no chair would be blank?
a) 8 b) 6 c) 2 d) 7 

TCS Model 5:
1. A man jogs at 6 mph over a certain journey and walks over the same route at 4 mph. What is his average speed for the journey?
a) 2.4 mph b) 4.8 mph c) 4 mph d) 5 mph 
Solution: Average speed=(2*x*y)/(x+y) 

2. A man travels from A to B at 4 mph over a certain journey and returns over the same route to A, at 5 mph. What is his average speed for the journey?
a) 4.44 mph b) 4.8 mph c) 4.887 mph d)5 mph 

3. A person is rock climbing at an altitude of 800 m. He go up by 7 mph. and come down by 9 mph. what was his average speed?
a) 7.875 mph b) 7.125 mph c) 7mph d) 7.5 mph 

4. Find average speed if a man travels at speed of 24kmph up and 36kmph down at an altitude of 200m?
a) 28.8 mph b) 27.8 mph c) 27.5mph d) 30 mph 

5. Person travels to a hill, if he goes from A to B with speed of 4kmph and returns back to B with speed of 5kmph. What is his average speed of journey?
a) 4.5kmph b) 4.44kmph c) 9kmph d) 4.245kmph 

6. A man travels from A to B at 70 mph over a certain journey and returns over the same route to A, at 80 mph. What is his average speed for the journey?
a) 74.66 b)75 c)74.33 d)74.99 

7. Find average speed if a man travels at speed of 24kmph up and 36kmph down at an altitude of 200m.
a) 28.8 b)28 c)27 d)28.6 

TCS Model 6: 
1. Susan made a block with small cubes of 8 cubic cm volume to make a block ,3 small cubes long, 9 small cubes wide and 5 small cubes deep. She realizes that she has used more small cubes than she really needed. She realized that she could have glued a fewer number of cubes together to lock like a block with same dimensions, if it were made hollow. What is the minimum number of cubes that she needs to make the block?
a) 114 b) 135 c) 21 d) 71 

Solution: I do not know perfectly but I got some solutions from internet I do not know correctly whether it is tru e or not,((3*9*5))-((3-2)*(9-2)*(5-2)) so answer is 114. 

2. A boy wants to make cuboids of dimension 5m, 6m and 7m from small cubes of .03 m3. Later he realized he can make same cuboid by making it hollow. Then it takes some cubes less. What is the number of the cubes to be removed?
a) 2000 b) 5000 c) 3000 d) 7000 

3. Smita was making a cube with dimensions 5*5*5 using 1*1*1 cubes. What is the number of cubes needed to make a hollow cube looking of the same shape?
a) 98 b) 104 c) 100 d) 61 

4. Leena cut small cubes of 10 cm dimension each. She joined it to make a cuboid of length 100 cm, width 50 cm and depth 50 cm. How many more cubes does she need to make a perfect cube?
a) 500 b) 250 c) 750 d) 650 

5. Leena cut small cubes of 3 cubic cm each. She joined it to make a cuboid of length 10 cm, width 3 cm and depth 3 cm. How many more cubes does she need to make a perfect cube?
a) 910 b) 250 c) 750 d) 650 

6. A lady builds 9cm length, 10cm width,3cm height box using 1 cubic cm cubes. What is the minimum number of cubes required to build the box?
a) 730 b) 270 c) 720 d) 310 

TCS Model 8: 
1. (40*40*40 31*31*31)/(40*40+40*31+31*31)=?
a)8 b)9 c)71 d)51 

Solution:a3 -b3 =(a-b)*(a2+a*b+b2) so from this formula we will find (a-b) value 

2. (98*98*98 73*73*73)/( 98*98*98 73*73*73)=?
a).171 b).4 c).420 d).415 

3. (209*144)^2 + (209*209)+(209*144)+(144*144) = ?
a)905863729 b)905368729 c)905729368 d)65 

TCS Model 9: 
1. ((4x+3y)+(5x+9y))/(5x+5y) = ? as (x/2y) = 2
a)8 b)none c)16 d)15 
Solution: substitute x=4y in above we can find solution 

2. x/2y = 2a,then 2x/x-2ay=?
a)4 b)8 c)16 d)2 

3. 3X/5Y = 5Y/3X�..Find the value of X/Y
a) 3/5 b) 5/3 c) 2/5 d) 5/2 

4. What is the value of (3X+8Y)/(X-2Y), if X/2Y=2
a) 8 b) none c) 10 d) 13 

5. (4x+3y)+(5x+9y))/(5x+5y) = ? as (x/2y) = 2
a) 48/5 b) 46/5 c) 47/5 d) 49/5 

6. ((4x+2y)/(4x-2y)= ? as (x/2y) = 2
a) 8/7 b) 9/7 c) 11/7 d) 6/7 

TCS Model 10: 
1. A girl has to make pizza with different toppings. There are 8 different toppings. In how many ways can she make pizzas with 2 different toppings?
a) 16 b) 56 c) 112 d) 28 
Solution: 8c2 

2. A pizza shop made pizzas with many flavors. There are 10 different flavors, in that 7 flavors are taken to make pizza. In how many ways they can arrange?
a) 240 b) 120 c) 65 d) 210 

3. A pizza shop made pizzas with many flavours. There are 9 different flavors, in that 2 flavors are taken to make pizza. In how many ways they can arrange?
a) 16 b) 26 c) 36 d) 46 

TCS Model 11: 
1. 3, 22, 7, 45, 15, ?, 31
a) 91 b)151 c) 90 d) 5 

2. 8 6 17 14 35 31 75 _ 143? Ans :-66 

3. Inspired by Fibonacci series Sangeet decided to create his own series which is 1, 2, 3, 7, 7,22, 15, 67, 31, _, 63?
a) 202 b) 31 c) 76 d) 49 

4. 3, 12, 7, 26, 15, ?
a) 54 b) 27 c) 108 d) 31 

5. 1! + 2! + ��. + 50!=?
a)3.1035*10^64 b)2.1021*10^65 c)3.1035*10^63 d)3.1035*10^62 

6. 1, 2, 3, 6, 7, 14, _, 32? 

7. 5, 9, 12, 18, 26, 36, 47, 72, _?
a) 75 b) 135 c) 100 d) 55 

8. 3, 15, x, 51, 53,159,161
a) 17 b) 34 c) 54 d) 112 


TCS Model 12: 
1. Simple question but big one on average age.sth like a, b, c weighted separately 1st a, b, c ,then a& b, then b & c ,then c & a at last abc, the last weight was 167,then what will be the average weight of the 7 reading?
a) 95 b) 95.428 c) 95.45 d) 94 
Solution: Last weight abc is 167i.e three persons weight is 167 .in first 6 combinations a,b,c,ab,bc,ac i.e a checked weight for 3 times totally like that band c also so total weight in all 7 combinations is (4*167) 
Average is (668/7)=95.42 
TCS Model 13: 
1. A toy train produces 10 different sounds when it moves around a circular toy track of radius 5 m at 10 m per min. However, the toy train is defective and it now produces only 2 different tunes at random. What are the odds that the train produces for consecutive music tones of the same type?
a) 1 in 16 B) 1 in 4 c) 1 in 8 d) 1 in 32 


Solution: Initially it produces 10 sounds and the defect came and now it produces only 2 different sounds and consecutively so there are totally 2 sounds and we have to select on sound and the probability is and it produces the same sound consecutively for 2 times so the probability becomes �*1/2 ie � 

2. A car manufacturer produces only red and blue TCS Models which come out of the final testing area at random. What are the odds that five consecutive cars of same color will come throughthe test area at any one time?
a) 1 in 16 b) 1 in 125 c) 1 in 32 d) 1 in 25 

TCS Model 15: 
1. A triangle is made from a rope. The sides of the triangle are 25 cm, 11 cm and 31 cm. What will be the area of the square made from the same rope?
a) 280.5625 b) 240.5625 c) 280.125 d) 240 

Solution: Add all sides 25+11+31 to get rope length rope length =67,rope is made in to as square. So side of square is 67/4=16.75 and so area is 16.75*16.75=280.5625 

2. A triangle is made from a rope. The sides of the triangle are 21 cm, 24 cm and 28 cm. What will be the area of the square made from the same rope?
a) 280.5625 b) 333.0625 c) 333.0125 d) 400 

TCS Model 16: 
1. What is the distance between the z-intercept from the x-intercept in the equation
ax+by+cz+d=0
Solution: intercept form equation 

2. What is the distance of the z-intercept from the x-intercept in the equation ax+by+cz=d (I do not remember the values of a, b, c, d). 

TCS Model 17: 
1. A scientist was researching on animal behaviour in his lab. He was very interested in analysing the behaviour of bear. For some reason he travelled 1mile in north direction & reached at North Pole. There he saw a bear. He then followed the bear around 1 hr with a speed of 2km/hr in east direction. After that he travelled in south direction & reached at his lab in2 hrs. Then what is the color of the bear?
a) White b) Black c) Gray d) Brown 
Solution is: White. above all the matter is nonsense 


TCS Model 18: 

1. Out of 7 children the youngest is boy then find the probability that all the remaining children are boys
a) 1/64 b) 1/32 c) 1/128 d) 1/256 


TCS Model 19: 
1. Usha bought a linen cloth and rope to build a tent. If the rope is 153 m long and it is to be cut into pieces of 1m length, then how many cuts are to be made to cut the ropes into 153 pieces?
a) 153 b) 152 c) 154 d) 155 
Solution: To make it 153 pieces we have to cut 152 times so obviously after last cut we got 153rd piece 

2. A person has to make 146 pieces of a long bar. He takes 4 seconds to cut a piece. What is the total time taken by him in seconds to make 146 pieces?
a) 584 b) 580 c) 730 d) 725 
Solution: 146 pieces means 145 cuts so for each cut it takes 4 seconds means total time 145*4=580 

3. A person has to make 141 pieces of a long bar. He takes 2 seconds to cut a piece. What is the total time taken by him in seconds to make 141 pieces?
a) 560 b) 280 c) 112 d) 324 


TCS Model 20: 

1. Spores of a fungus, called late blight, grow and spread infection rapidly. These pathogens were responsible for the Irish potato famine of the mid-19th century. These seem to have attacked the tomato crops in England this year. The tomato crops have reduced and the price of the crop has risen up. The price has already gone up to $45 a box from $27 a box a month ago. How much more would a vegetable vendor need to pay to buy 27 boxes this month over what he would have paid last month?
a) $27 b) $18 c) $45 d) $486 
Solution: See last 3 lines only answer is 45-27=18 

TCS Model 21: 
1. A Person buys a horse for 15 ponds, after one year he sells it for 20 pounds. After one year, again he buys the same horse at 30 pounds and sells it for 40 pounds. What is the profit for that person? 
Solution: here we cannot consider depreciation or decay of item accto answer so go acc to 
answer 
Totally 5+10=15$profit

 
TCS Model 22: 
1. John buys a cycle for 31 dollars and given a cheque of amount 35 dollars. Shop Keeper exchanged the cheque with his neighbour and gave change to John. After 2 days, it is known that cheque is bounced. Shop keeper paid the amount to his neighbour. The cost price of cycle is 19 dollars. What is the profit/loss for shop keeper? 
a) loss 23 b) gain 23 c) gain 54 d) Loss 54 
Solution: Loss= Change of money given to john(4$)+actual cycle cost 19$=23$ loss 

TCS Model 23: 
1. A lady has fine gloves and hats in her closet- 18 blue, 32 red, and 25 yellow. The lights are out and it is totally dark. In spite of the darkness, she can make out the difference between a hat and a glove. She takes out an item out of the closet only if she is sure that if it is a glove.How many gloves must she take out to make sure she has a pair of each color?
a) 50 b) 8 c) 60 d) 42 

2. A lady has fine gloves and hats in her closet- 14 blue, 20 red, and 18 yellow. The lights are out and it is totally dark. In spite of the darkness, she can make out the difference between a hat and a glove. She takes out an item out of the closet only if she is sure that if it is a glove. How many gloves must she take out to make sure she has a pair of each color? 

3. A lady has fine gloves and hats in her closet- 13 blue, 27 red, and 40 yellow. The lights are out and it is totally dark. In spite of the darkness, she can make out the difference between a hat and a glove. She takes out an item out of the closet only if she is sure that if it is a glove. How many gloves must she take out to make sure she has a pair of each color? 

4. A lady has fine gloves and hats in her closet- 25 blue, 7 red, and 9 yellow. The lights are out and it is totally dark. In spite of the darkness, she can make out the difference between a hat and a glove. She takes out an item out of the closet only if she is sure that if it is a glove.How many gloves must she take out to make sure she has a pair of each color? 

5. A lady has fine gloves and hats in her closet- 26 blue, 30 red, and 56 yellow. The lights are out and it is totally dark. In spite of the darkness, she can make out the difference between a hat and a glove. She takes out an item out of the closet only if she is sure that if it is a glove. How many gloves must she take out to make sure she has a pair of each color? 

TCS Model 24: 
1. Sangakara and Ponting select batting by using a dice, but dice is biased. So to resolve,Ponting takes out a coin. What is the probability that coin shows correct option?
a)1/2 b)1/6 c)1/12 d)6/10 
Solution is. 

2. There is a die with 10 faces. It is not known that fair or not. 2 captains want to toss die forbatting selection. What is the possible solution among the following?
a) If no. is odd it is head, if no. is even it is tail
b) If no. is odd it is tail, if no. is even it is head
c) Toss a die until all the 10 digits appear on top face. And if first no. in the sequence is odd then consider it as tail. If it is even consider it as head. 

TCS Model 25:
1. In a family there are some boys and girls. All boys told that they are having equal no ofbrothers and sisters and girls told that they are having twice the no. of brothers than sisters.How many boys and girls present in a family?
a) 4 boys and 3 girls b) 3 boys and 4 girls c) 2 boys and 5 girls d) 5 boys and 2 girls 

TCS Model 26: 
1. 10 men and 10 women are there, they dance with each other, is there possibility that 2 men are dancing with same women and vice versa?
a) 22 b) 20 c) 10 d) none 

2. There are 100 men and 100 women on the dance floor. They want to dance with each other. Then which of the following statements is always true: 
a) There are 2 men who danced with equal no. of women’s
b) There are 2 women who danced with equal no. of men
a) both a and b b)only a c)only b d)none 


TCS Model 27: 
1. Middle- earth is a fictional land inhabited by hobbits, elves, dwarves and men. The hobbits and elves are peaceful creatures that prefer slow, silent lives and appreciate nature and art. The dwarves and the men engage in physical games. The game is as follows. A tournament is one where out of the two teams that play a match, the one that loses get eliminated. The matches are played in different rounds, where in every round; half of the teams get eliminated from the tournament. If there are 8 rounds played in knock out tournament, how many matches were played?
a) 257 b) 256 c) 72 d) 255
Solution: Do not know perfect logic 28 

2. A game is played between 2 players and one player is declared as winner. All the winners from first round are played in second round. All the winners from second round are played in third round and so on. If 8 rounds are played to declare only one player as winner, how many players are played in first round?
a) 256 b) 512 c) 64 d) 128 

TCS Model 28: 
1. Metal strip of width �x� cm. 2 metal strips are placed one over the other, then the combine length of 2 strips is �y�. If �z� strips are placed in that manner. What is the final width of that arrangement? 

2. A, B, C, D, E are there among A, B, C are boys and D, E are girls D is to the left of A and no girl sits at the middle and at the extemes. Then what is the order of their sittings. 

TCS Model 29: 
1. There is 7 friends (A1, A2, A3....A7).If A1 have to have shake with all without repeat. How many handshakes possible?
a) 6 b) 21 c) 28 d) 7 
Solution: For handshakes type question i am confirming you that if the there are n membersare there Handshakes are given in linear manner =n-1(last person cannot give hand shake to first
person) Handshakes are given in cyclic manner =n(last person can give hand shake to first person) But i do not know perfectly for repetition it is nc2 

2. 49 members attended the party. In that 22 are males, 17 are females. The shake hands between males, females, male and female. Total 12 people given shake hands. How many such kinds of such shake hands are possible?
a) 122 b) 66 c) 48 d)1 28

TCS sample and model placement paper questions for learn and practice 2013-2014 new batch asked questions some users contributions from different campus recruitments all over India 
 

1)   The wages of 24 men and 16 women amounts to Rs.11600/day. Half the number of men and 37 women earn the same amount /day. What is the daily wage of a man


Explanations
Let the wage of a man be m and woman be w

24m+16W=11600
12m+37w=11600
24m*37-12m*16=11600*(37-16)
12m(2*37-16)=11600*(37-16)
Solving m=11600*21/(12*58) =200*7/4=350


2)      The sum of three digits in a number is 17 The sum of square of the digits is 109 .If we subtract 495 from the number, the number is reversed. Find the number 

Explanations 

Let the digits abc
a+b+c=17-Eqn1
a^2+b^2+c^2 =109 -Eqn -2
Also 100a+10b+c-495=100c+10b+a
99(a-c)=495 Thus a-c =5 The possible combinations are (6,1)(7,2)(8,3)(9,4)
Case 1: (6,1)
From Eqn 1,b+17-7=10 which not possible as b is a single digit

Case 2:(7,2)
From eqn 1 b=17-9=8
Verifying with eqn 2,49+4+64=117and hence not valid

Case 3: (8,3)
From eqn 1,b=17-11=6
Verifying with eqn 2,64+9+36 = 109 and hence valid 

Thus the number is 863

3)     Find the last two0 digits of (102^3921)+(3081^3921)
Ans 02

To find out the last 2 digits of a term where the number ends with 1, multiply the tens digit of the number with the last digit of the exponent This will give you the tens digit Unit digit will always be 1

Applying this shortcut
for 102^3921,last 2 digits is (2^1) 1=21
for 3081^3921,last 2 digits is (8^1)=81
Adding both we get 102
Hence last two digits of the expression is 02
4)     To find out the last 2 digits of a term where the number ends with 1, multiply the tens digit of the number with the last digit of the exponent This will give you the tens digit Unit digit will always be 1

Applying this shortcut
for 102^3921,last 2 digits is (2^1) 1=21
for 3081^3921,last 2 digits is (8^1)=81
Adding both we get 102
Hence last two digits of the expression is 02

4 A series is given as 1,6,7,13,20,33,.......and so on Find the sum of first 52 terms
1st and 2nd terms are 1,6
3rd term is 7 which is sum of first+second
4the term is 13 which is sum of second +thirds
Expanding the series further by adding a few more terms it is 1,6,7,13,20,33,53,86,139,and so on
Now if we add the terms for upto 1,2,3,4,5,6 terms it is 
1,2,14,27,47,80,133,219 and so on

 

 

5) 
 





 

 

Ans 26.25 sq units
The Radius of the circle R circumscribing a triangle is given by the formula
R-ABC /(4*Area of Triangle)

Area of Triangle - 1/2*base*height - 1/2*BC*Ad-1.5BC (As Ad -3)
A,B,C are the side which are 17.5 9 and BC respectively
Hence radius R -17 .5*9*BC/(4*1.5BC) -17.5*9/6-26.25 squints

 

6) A calculator has a key for squaring and another key for inverting. So if x is the displayed number, then pressing the square key will replace x by x^2 and pressing the invert key will replace x by 1/x. If initially the number displayed is 6 and one alternatively presses the invert and square key 16 times each, then the final number displayed (assuming no round off or overflow errors) will be


Ever n number of inverse key has no effect on the number.
By pressing the square key, the value got increased like 2, 4, 8, .... Which are in the format of 2n. So after the 16 pressings the power becomes 216
So the final number will be 6216=665536
 

7)   How many two digit numbers are there which when subtracted from the number formed by reversing it's digits as well as when added to the number formed by reversing its digits, 

result in a perfect square. 
Let the number xy = 10x + y
Given that, 10x+y - (10y - x) = 9(x-y) is a perfect square
So x-y can be 1, 4, 9. -------- (1)
So given that 10x+y +(10y +x) = 11(x+y) is a perfect square.
So x+y be 11. Possible options are (9,2), (8,3),(7,4),(6,5) ---------(2)
From the above two conditions only (6,5) satisfies the condition
Only 1 number 56 satisfies.

 

8)  Find the 55th word of SHUVANK in dictionary
Sol: Arranging the letters in alphabetical order we get : A H K N S U V
Now Total words start with A are 6!
Total words start with AH are 5! = 120
Now
Total words start with AHK are 4! = 24
Total words start with AHN are 4! = 24
Total words start with AHSK are 3! = 6
Now AHSNKUV will be the last word required.

 

 

9)     Car A leaves city C at 5pm and is driven at a speed of 40kmph. 2 hours later another car B leaves city C and is driven in the same direction as car A. In how much time will car B be 9 kms ahead of car A if the speed of car is 60kmph
Relative speed = 60 - 40 = 20 kmph
Initial gap as car B leaves after 2 hours = 40 x 2 = 80 kms
Car B should be 9 km ahead of the A at a required time so it must be 89 km away
Time = 89 / 20 = 4.45 hrs or 267 mins

 

10) n is a natural number and n^3 has 16 factors. Then how many factors can n^4 have?
Total factors of a number N=ap.bq.cr... is (p+1)(q+1)(r+1)...
As n3 has 16 factors n3 can be one of the two formats given below
n3 =a15
n3 = a3.b3
If n3 =a15 then n = a5 and number of factors of n4 = 21
n3 = a3.b3 then n = ab and number of factors n4 = 25

 

11)Two cars start from the same point at the same time towards the same destination which is 420 km away. The first and second car travel at respective speeds of 60 kmph and 90 kmph. After traveling for sometime the speeds of the two cars get interchanged. Finally the second car reaches the destination one hour earlier than the first. Find the time after which the speeds get interchanged?
Let the total time taken by the cars be a and b
Let the time after which the speed is interchanged be t
For car A, 60t+90(a-t) = 420, 90a - 30t = 420 .......(1)
For car B, 90t + 60(b-t) = 420, 60b + 30t = 420 ....(2)
Using both (1) and (2), we get 90a + 60b = 840
But as a - b =1, 90a + 60(a-1) = 840.
Solving a = 6.
Substituting in equation 1, we get t = 4

 

1. What are the total number of divisors of 600(including 1 and 600)? 

a.  24 

b.  40 

c.  16 

d.  20 

 

Sol: Option a

If N=ap×bq×cr.... then the number of factors of N = (p+1)(q+1)(r+1) ....

600 = 23×3×52 

So number of factors of 600 = (3+1)(1+1)(2+1) = 24

 

2. What is the sum of the squares of the first 20 natural numbers (1 to 20)? 

a.  2870 

b.  2000 

c.  5650 

d.  44100 

Sol: Option a

Use formula n(n+1)(2n+1)/6

 

3. What  is ∑K=028K2(28KC) where 28KC is the number of ways of choosing k items from 28 items? 

a.  406 *  227  

b.  306 *  226   

c.  28 *   227

d.  56 *   227

Sol: A

Consider (1+x)n=C0+C1x+C2x2+.....+Cnxn .......(1)

Differentiating w.r.t x we get

n(1+x)n−1=C1+2C2x+3C3x2+.....+nCnxn−1

Multiplying by x on both sides,

x.n(1+x)n−1=x.C1+2C2x2+3C3x3+.....

Now again differentiating w.r.t to x 

n(1+x)n−1+n(n−1)x(1+x)n−2=C0+22C1x+32C2x2+42C3x3.....

Putting x = 1, we get

n(n+1)2n−2=C1+22C2+32C3+42C4

Now substituting n = 28

28(28+1)228−2 = 812.226 = 406.227

 

4. What is ∑K=0283K(28KC) where 28KC  is the number of ways of choosing k items from 28 items? 

a. 256

b.  3* 227

c. 329

d. 3* 427 

Sol: Option A

We know that C0+3C1+32C2+.....+3nCn=4n
Substitute n = 28

We get ∑K=0283K(28KC) = 428= 256

 

5. A call center agent has a list of 305 phone numbers of people in alphabetic order of names (but she does not have any of the names).  She needs to quickly contact Deepak Sharma to convey a message to him.  If each call takes 2 minutes to  complete, and every call is answered, what is the minimum amount of time in which she can guarantee to deliver the message to Mr Sharma. 

a.  18 minutes 

b.  610 minutes 

c.  206 minutes 

d.  34 minutes 

Sol: Option A

 

6. The times taken by a phone operator to complete a call are 2,9,3,1,5 minutes respectively.  What is the average time per call? 

a.  4 minutes 

b.  7 minutes 

c.  1 minutes 

d.  5 minutes 

Sol: Option A

 

7. The times taken by a phone operator to complete a call are 2,9,3,1,5 minutes respectively.  What is the median time per call? 

a.  5 minutes 

b.  7 minutes 

c.  1 minutes 

d.  4 minutes 

 Sol: NO option is correct. Median is 3

 

8. Eric throws two dice, and his score is the sum of the values shown.  Sandra throws one die, and her score is the square of the value shown.  What is the probability that Sandra’s score will be strictly higher than Eric’s score? 

a.  137/216 

b.  17/36 

c.  173/216 

d.  5/6 

Sol: A

 

9. What is the largest integer  that divides  all three numbers 23400,272304,205248 without leaving a remainder? 

a.  48 

b.  24 

c.  96 

d.  72 

Sol: Option B

Find GCD

 

10. Of the 38 people in my office, 10 like to drink chocolate, 15 are cricket fans, and 20 neither like chocolate nor like cricket.  How many people like both cricket and chocolate? 

a.  7 

b.  10 

c.  15 

d.  18 

Sol: Option A

 

11. If f(x) = 2x+2 what is f(f(3))? 

a.  18 

b.  8 

c.  64 

d.  16 

 Sol: Option A

 

12. If   f(x) = 7 x +12, what is f-1(x) (the inverse function)? 

a.  (x-12)/7 

b.  7x+12 

c.  1/(7x+12) 

d.  No inverse exists 

Sol: Option A

 

13. A permutation is often represented by the cycles it has.  For example, if we permute the numbers in the natural order to 2 3 1 5 4, this is represented as (1  3 2) (5 4).  In this the (132) says that the first number has gone to the position 3, the third number has gone to the position 2, and the second number  has gone to position 1, and (5 4) means that the fifth number  has gone to position 4 and the fourth number  has gone to position 5.  The numbers with brackets are to be read cyclically.  If a number  has not changed position, it is kept as a single cycle.  Thus 5 2 1 3 4 is represented as (1345)(2). We may apply permutations on itself If we apply the permutation (132)(54) once, we get 2 3 1 5 4.  If we apply it again, we get 3 1 2 4 5 , or (1 2 3)(4) (5) If we consider the permutation of 7 numbers (1457)(263), what is its order (how many 

times must it be applied before the numbers appear in their original order)? 

a.  12 

b.  7 

c.  7! (factorial of 7) 

d.  14 

Sol: Not yet solved

 

14. What is the maximum value of x3y3 + 3 x*y when x+y = 8? 

a.  4144 

b.  256 

c.  8192 

d.  102 

Sol: Option A

The question probably be x3.y3+3x∗y
Sustitute x = 4 and y = 4

 

15. Two circles of radii 5 cm and 3 cm touch each other at A and also touch a line at B and C. The distance BC in cms is? 

a.  √ 60

b.  √ 62

c.  √ 68

d.  √ 64

 

Sol:Option A

√d2−(r1−r2)2

d = distance between centers

 

16. In Goa beach, there are three small picnic tables. Tables 1 and 2 each seat three people.   Table 3 seats  only one person, since two of its seats are broken. Akash, Babu, Chitra, David, Eesha, Farooq, and Govind all sit at seats at these picnic tables. Who sits with whom and at which table are determined by the following constraints: 

a.  Chitra does not sit at the same table as Govind. 

b.  Eesha does not sit at the same table as David. 

c.  Farooq does not sit at the same table as Chitra.  

d.  Akash does not sit at the same table as Babu. 

e.  Govind does not sit at the same table as Farooq. 

 

Which of the following is a list of people who could sit together at table 2? 

a.  Govind, Eesha, Akash 

b.  Babu, Farooq, Chitra 

c.  Chitra, Govind, David. 

d.  Farooq, David, Eesha. 

Sol: Option A

 

17. There are a number of chocolates in a bag.  If they were to be equally divided among 14 children, there are 10 chocolates left.  If  they were to be equally divided among 15 children, there are 8 chocolates left.  Obviously, this can be satisfied if any multiple of 210 chocolates are added to the bag.  What is the remainder when the minimum feasible number of chocolates in the bag is divided by 9?   

a.  2 

b.  5 

c.  4 

d.  6 

Sol: Option B

 

18. Let f(m,n) =45*m + 36*n, where m and n are integers (positive or negative)  What is the minimum positive value  for f(m,n) for all values of m,n (this may be achieved for various values of m and n)? 

a.  9 

b.  6 

c.  5 

d.  18 

Sol: Option A

 

19. What is the largest number that will divide 90207, 232585 and 127986 without leaving a remainder? 

a.  257 

b.  905 

c.  351 

d.  498 

Sol: Option A

 

20. We have an equal arms two pan balance and need to weigh objects with integral weights in the range 1 to 40 kilo grams. We have a set of standard weights and can  place the weights in any pan. . (i.e) some weights can be in a pan with objects and some weights can be in the other pan. The minimum number of standard weights required is: 

a.  4 

b.  10 

c.  5 

d.  6 

 Sol: Option A

 

21. A white cube(with six faces) is painted red on two different faces.  How many different ways can this be done (two paintings are considered same if on a suitable rotation of the cube one painting can be carried to the other)? 

a.  2 

b.  15 

c.  4 

d.  30  

 Sol: Option A

 

22. How many divisors (including 1, but excluding 1000) are there for the number 1000? 

a.  15 

b.  16 

c.  31 

d.  10 

 Sol: Option A

 

23. In the polynomial   f(x) =2*x^4 - 49*x^2 +54, what is the product of the roots, and what is the sum of the roots (Note that x^n denotes the x raised to the power n, or x multiplied by itself n times)? 

a.  27,0 

b.  54,2 

c.  49/2,54 

d.  49,27 

 Sol: Option A

 

24. In the polynomial f(x) = x^5 + a*x^3 + b*x^4 +c*x + d, all coefficients a, b, c, d are integers. If 3 + sqrt(7) is a root, which of the following must be also a root?(Note that x^n denotes the x raised to the power n, or x multiplied by itself n times. Also sqrt(u) denotes  the square root of u, or the number which when multiplied by itself, gives the number u)? 

a.  3-sqrt(7) 

b.  3+sqrt(21) 

c.  5 

d.  sqrt(7) + sqrt(3) 

Sol: Option A

 

Note: These are not sample questions, but questions that explore some of the concepts that may be used. The intention is that you should get prepared with the concepts rather than just focusing on a set of questions


1. If 3y + x > 2 and x + 2y≤3, What can be said about the value of y?
A. y = -1
B. y >-1
C. y <-1
D. y = 1
Answer: B
Multiply the second equation with -1 then it will become - x - 2y≥ - 3. Add the equations. You will get y > -1.

2. If the price of an item is decreased by 10% and then increased by 10%, the net effect on the price of the item is
A. A decrease of 99%
B. No change
C. A decrease of 1%
D. An increase of 1%

Answer: C
If a certain number is increased by x% then decreased by x% or vice versa, the net change is always decrease. This change is given by a simple formula −(x/10)2= −(10/10)2= −1%. Negitive sign indicates decrease.

3. If m is an odd integer and n an even integer, which of the following is definitely odd?
A. (2m+n)(m-n)
B. (m+n2)+(m−n2)
C. m2+mn+n2
D. m +n
Answer: C and D (Original Answer given as D)
You just remember the following odd ± odd = even; even ± even = even; even ± odd = odd
Also odd x odd = odd; even x even = even; even x odd = even.

4. What is the sum of all even integers between 99 and 301?
A. 40000
B. 20000
C. 40400
D. 20200
Answer: D

The first even number after 99 is 100 and last even number below 301 is 300. We have to find the sum of even numbers from 100 to 300. i.e., 100 + 102 + 104 + ............... 300.
Take 2 Common. 2 x ( 50 + 51 + ...........150)
There are total 101 terms in this series. So formula for the sum of n terms when first term and last term is known is n/2(a+l)
So 50 + 51 + ...........150 = 1012(50+150)
So 2 x 101/2(50+150) = 20200

5. There are 20 balls which are red, blue or green. If 7 balls are green and the sum of red balls and green balls is less than 13, at most how many red balls are there?
A. 4
B. 5
C. 6
D. 7
Answer: B
Given R + B + G = 17; G = 7; and R + G < 13. Substituting G = 7 in the last equation, We get R < 6. So maximum value of R = 6

6. If n is the sum of two consecutive odd integers and less than 100, what is greatest possibility of n?
A. 98
B. 94
C. 96
D. 99
Answer : C
We take two odd numbers as (2n + 1) and (2n - 1).
Their sum should be less than 100. So (2n + 1) + (2n - 1) < 100 ⇒ 4n < 100.
The largest 4 multiple which is less than 100 is 96

7. x2 < 1/100, and x < 0 what is the highest range in which x can lie?
A. -1/10 < x < 0
B. -1 < x < 0
C. -1/10 < x < 1/10
D. -1/10 < x
Answer: A

8. There are 4 boxes colored red, yellow, green and blue. If 2 boxes are selected, how many combinations are there for at least one green box or one red box to be selected?
A. 1
B . 6
C. 9
D. 5
Answer: 5

Total ways of selecting two boxes out of 4 is 4C2 = 6. Now, the number of ways of selecting two boxes where none of the green or red box included is only 1 way. (we select yellow and blue in only one way). If we substract this number from total ways we get 5 ways.
9. All faces of a cube with an eight - meter edge are painted red. If the cube is cut into smaller cubes with a two - meter edge, how many of the two meter cubes have paint on exactly one face?
A. 24
B. 36
C. 60
D. 48
Answer : A

If there are n cubes lie on an edge, then total number of cubes with one side painting is given by 6×(n−2)2. Here side of the bigger cube is 8, and small cube is 2. So there are 4 cubes lie on an edge. Hence answer = 24

10. Two cyclists begin training on an oval racecourse at the same time. The professional cyclist completes each lap in 4 minutes; the novice takes 6 minutes to complete each lap. How many minutes after the start will both cyclists pass at exactly the same spot where they began to cycle?
A. 10
B. 8
C. 14
D. 12
Answer: D

The faster cyclyst comes to the starting point for every 4 min so his times are 4, 8, 12, ......... The slower cyclist comes to the starting point for every 6 min so his times are 6, 12, 18, ......... So both comes at the end of the 12th min.

11 Tim and Elan are 90 km from each other.they start to move each other simultanously tim at speed 10 and elan 5 kmph. If every hour they double their speed what is the distance that Tim will pass until he meet Elan 
A. 45
B. 60
C. 20
D. 80
Answer: B

12 . A father purchases dress for his three daughter. The dresses are of same color but of different size .the dress is kept in dark room .What is the probability that all the three will not choose their own dress.
A. 2/3
B. 1/3
C. 1/6
D. 1/9
Answer: B

13 . N is an integer and N>2, at most how many integers among N + 2, N + 3, N + 4, N + 5, N + 6, and N + 7 are prime integers?
A. 1
B. 3
C. 2
D. 4
Answer: C

14 A turtle is crossing a field. What is the total distance (in meters) passed by turtle? Consider the following two statements
(X) The average speed of the turtle is 2 meters per minute
(Y) Had the turtle walked 1 meter per minute faster than his average speed it would have finished 40 minutes earlier
A. Statement X alone is enough to get the answer
B. Both statements X and Y are needed to get the answer
C. Statement Y alone is enough to get the answer
D. Data inadequate
Answer: B

15 . Given the following information, who is youngest?
C is younger than A; A is talled than B
C is older than B; C is younger than D
B is taller than C; A is older than D
A. D
B. B
C. C
D. A
Answer: B

16 Find the number of rectangles from the adjoining figure (A square is also considered a rectangle)
A. 864
B. 3276
C. 1638
D. None

Answer: C

17 A, B, C and D go for a picnic. When A stands on a weighing machine, B also climbs on, and the weight shown was 132 kg. When B stands, C also climbs on, and the machine shows 130 kg. Similarly the weight of C and D is found as 102 kg and that of B and D is 116 kg. What is D's weight
A. 58kg
B. 78 kg
C. 44 kg
D. None
Answer : C

Given A + B = 132; B + C = 130; C + D = 102, B + D = 116
Eliminate B from 2nd and 4th equation and solving this equation and 3rd we get D value as 44.

18 Mr and Mrs Smith have invited 9 of their friends and their spouses for a party at the Waikiki Beach resort. They stand for a group photograph. If Mr Smith never stands next to Mrs Smith (as he says they are always together otherwise). How many ways the group can be arranged in a row for the photograph?
A. 20!
B. 19! + 18!
C. 18 x 19!
D. 2 x 19!
Answer: C

19 Roy is now 4 years older than Erik and half of that amount older than Iris. If in 2 years, roy will be twice as old as Erik, then in 2 years what would be Roy's age multiplied by Iris's age?
A. 28
B. 48
C. 50
D. 52
Answer: 48

20 X, Y, X and W are integers. The expression X - Y - Z is even and the expression Y - Z - W is odd. If X is even what must be true?
A. W must be odd
B. Y - Z must be odd
C. W must be odd
D. Z must be odd
Answer: A or C (But go for C)
Recent Question Pattern of TCS Campus Placement 2013. It is the new questions we get from different students 

1. An empty tank be filled with an inlet pipe ‘A’ in 42 minutes. after 12 minutes an outlet pipe ‘B’ is opened which can empty the tank in 30 minutes. 
After 6 minutes another inlet pipe ‘C’ opened into the same tank, which can fill the tank in 35 minutes and the tank is filled find the time taken to fill the tank? 

Ans
Rate at which A fill is 1/42 per min
A filled for 12 min so tank filled by A will be 12/42
Similarly B empty the tank for 6 min
now the volume will be (18/42) -(6/30) = 8/35 because at the 6 min A has also filled.
Now the amount left to be filled is (1-8/35) = 27/35
Now C comes it fills 1/35 per minute.
So from now the amount will be filled is (1/42+1/35-1/30) = 2/105 per minute
So to fill the required amount it will take 105/2 * 27/35 = 40.5 min
So total time is 12+6+40.5 = 58.5 min


2. A boy wants to make cuboids of dimension 5m,6m & 7m from small cubes of .03m^3.Later he realized that he can make some cuboids by making it hollow.
Then it takes some cubes less. What is the number of cubes to be removed

a)2000 
b)5000 
c)3000 
d)7000 

Ans
Total no of cubes = 5*6*7/0.03=7000
for making it hollow we have to remove (5-2)*(6-2)*(7-2)/0.03=2000.



3. Leena cuts small cubes of 3 cubic cm each. She joined it to make a cuboids of length 10 cm,width 3cm, and depth 3 cm.How many more cubes does she need to make a perfect cube?
a)910 
b)250 
c)750 
d)650 
Ans
To make cube we need 10*10*10=1000.
Now we have only 10*3*3=90.
So the more cube we need are 1000-90=910.


4. What is the distance between the z-intercept from x-intercept in the eqn ax+by+cz+d=0 
Ans
square root of (d/a)^2 + (d/c)^2

5. 10 men and 10 women are there.They dance with each other.Is there possibility that two men are dance with same girl and vice versa?
a)22 
b)20 
c)10 
d)none of these 
Ans
none of these


6. A father purchases dress for his three daughter. The dresses are of same color but of different size .The dress is kept in dark room .What is the probability that all the three will not choose their own dress…
a) 2/3 
b) 1/3 
c) 1/6 
d) 1/9 
Ans
Proper Selections:
A B C
A C B
C B A
B A C (i.e. total 4)
Improper selection:
B C A
C A B (i.e. total 2)
Probability for improper selection= 2/6 = 1/3


7. Mr and Mrs smith had invited 9 of their friend and their spouses for party at wiki beachresort.the stand for group photograph if mr smith never stand next to mrs smith then how many way group arrange in row.

(A)20!
(B)19!+18!
(C)18*19!
(D)2*19! 
Ans
Mr and Mrs smith never be together so out of 20 (with both them) 19 can b any place so total = 19!
20 because their invitees are with their spouses.
Also 1 of them can stand with other so 18 places
So total is 18*19!


8. Tim and Elan are 90 km from each other, they start to move each other simultaneously, Tim at speed 10 and Elan 5kmph, if every hour they double their speed what is the distance that Tim will pass until he meet Elan?
(A)45
(B)60
(C)20
(D)80 
Ans
60


9. MOTHER +DAUGHTER+INFANT AGE IS 74. MOTHER AGE IS 46 MORE THEN DAUGHTER AND INFANT. AND INFANT AGE IS 0.4 OF DAUGHTER. FIND DAUGHTERS AGE. 
Ans
m+d+i=74 (1)
m=46+(d+i) (2)
i=0.4d (3)
solving we get d = 10

10. The age of two people is in the ratio 6:8. the sum of their ages is 77. after 2 years the ratio of their ages becomes 5:7. wat is their present age? 



11. A Grocer bought 24 kg coffee beans at price X per kg. After a while one third of stock got spoiled so he sold the rest for $200 per kg and made a total profit of twice the cost. What must be the price of X?
A.$33 1/3 
B. 66 2/3 
C.44 4/9 
D.50 1/3 
Cost price= 24*X,
spoiled= 24*1/3=8 kg, now total amount= (24-8)=16 kg
selling price= 16*200 =3200
profit= (3200-24*X)
profit=2* cost , (3200-24*X)= 2*24*X, x=400/9 =44 4/9


12. Let exp(m,n) = m to the power n. If exp(10, m) = n exp(2, 2) where to and n are integers then n = 
exp(10, m) = n * exp(2, 2) = n*(2^2) = 4*n
10^m=4*n ; where m,n integers
m=2, n=25 satisfies for the least value

13.Bhanu spends 30% of his income on petrol on scooter. ? of the remaining on house rent and the balance on food. If he spends Rs.300 on petrol then what is the expenditure on house rent? 
Let the income x, so in petrol he spends 3x/10 rs,remaining x-3x/10=7x/10 on house rent and balance on.now 3x/10=300,so x=1000,
on house rent he spends rs 700-balance.


14. Directions for Q. 1 to Q. 5: Refer the data:

J, K, L, M and N collected stamps. 

They collected a total of 100 stamps. 

None of them collected less than 10.
No two among them collected the same number.

(i) 3 collected the same number as K and M together.
(ii) L collected 3 more than the cube of an integer
(iii) The no. collected by J was the square of an integer.
(iv) Total no. collected by K was either the square or cube of an integer.

1. The no. collected by J was:
(1) 27 (2) 49 (3) 36 (4) 64

2. The no. collected by K was:
(1) 16 (2) 27 (3) 25 (4) 36

3. The difference of numbers collected by L & M was:
(1) 3 (2) 2 (3) 5 (4) 9 
L=12,N=11,J=27,M=14,K=36
Given,
K+M+J+L+N=100 ———(i)
K,M,J,L,N>10 ———(ii)
K?M?N?J?L ———(iii)
K+M=J+L+N ———(iv)
L=3 + X^3 , where X is an integer ———(v)
J= Y^3, where Y is an integer (Modify the question here it should be like that) ———(vi)
K=Z^2 or Z^3, where Z is an integer ———(vii)

Now from the ques value of J can be 27 or 64
but if we take 64 then eqn iv would not satisfy so J=27
Again considering eqn ii, iv & ii we can say that L+N = 23 & K+M=50
Now from eqn v the value of L must be 11, thus L=11
That conclude N = 12
Now from the questio part 3,
The difference of numbers collected by L & M was:
(1) 3 (2) 2 (3) 5 (4) 9
Considering the fact M-L=any of those values
Now M=L+any of those values
M=11+any of those values
Now considering each values, M= 14, value =3; K=50-14 =36 which is a square of integer, thus satisfies
again M=13, value = 2; K=37 which is neither square or cube of any integer
M=16, value = 5; K=34 which is neither square or cube of any integer
M=20, value = 9; K=30 which is neither square or cube of any integer
Thus M = 14 & K = 36.

15. How many kgs. of wheat costing Rs. 8 per kg must be mixed with 86 kg of rice costing Rs. 6.40 per kg so that 20% gain may be obtained by Belling the mixture at Rs. 7.20 per kg ? 
Ans : 25.8
The recruitment process consisted of 3 rounds:
1. Aptitude
2. Technical Interview
3. HR Interview

Aptitude round:There were 35 questions. Duration: 80 minutes.

1. Alice and Bob play the following coins-on-a-stack game. 20 coins are stacked one above the other. One of them is a special (gold) coin and the rest are ordinary coins. The goal is to bring the gold coin to the top by repeatedly moving the topmost coin to another position in the stack. Alice starts and the players take turns. A turn consists of moving the coin on the top to a position i below the top coin (0 ≤ i ≤ 20). We will call this an i-move (thus a 0-move implies doing nothing). The proviso is that an i-move cannot be repeated; for example once a player makes a 2-move, on subsequent turns neither player can make a 2-move.If the gold coin happens to be on top when it's a player's turn then the player wins the game. Initially, the gold coins the third coin from the top. Then:-
• In order to win, Alice's first move should be a 0-move.
• In order to win, Alice's first move can be a 0-move or a 1-move.
• In order to win, Alice's first move should be a 1-move.
• Alice has no winning strategy.

2. For the FIFA world cup, Paul the octopus has been predicting the winner of each match with amazing success. It is rumoured that in a match between 2 teams A and B, Paul picks A with the same probability as A's chances of winning. Let's assume such rumours to be true and that in a match between Ghana and Bolivia, Ghana the stronger team has a probability of 2/3 of winning the game. What is the probability that Paul will correctly pick the winner of the Ghana-Bolivia game?
• 4/9
• 1/9
• 2/3
• 5/3

3. There are 2 cans A and B one of milk and other of Water resp. both of same qty..First one teaspoon of milk from A can was added to B can. Then one teaspoon from B can was added to A can then which of the following is true...
• Can A contain more milk than water in can B
• Can A contain less milk than water in can B
• both contain same qty of milk and water
• No change in both the can

4. There are 5 materials to make a perfume: Lilac, Balsamic, Lemon, Woody and Mimosaic. To make a perfume that is in demand the following conditions are to be followed: Lilac and Balsamic go together. Woody and Mimosaic go together; Woody and Balsamic never go together. Lemon can be added with any material. (Actually they had also mentioned how much amount of one can be added with how much quantity of the other; but that's not needed for the question.) All of the following combinations are possible to make a perfume EXCEPT:
• Balsamic and Lilac
• Woody and Lemon
• Mimosaic and Woody
• Mimosaic and Lilac

5. Alok and Bhanu play the following min-max game. Given the expression N = 9 + X + Y – Z where X, Y and Z are variables representing single digits (0 to 9), Alok would like to maximize N while Bhanu would like to minimize it. Towards this end, Alok chooses a single digit number and Bhanu substitutes this for a variable of her choice (X, Y or Z). Alok then chooses the next value and Bhanu, the variable to substitute the value. Finally Alok proposes the value for the remaining variable. Assuming both play to their optimal strategies, the value of N at the end of the game would be
• 27
• 0.0
• 20
• 18

6. A sheet of paper has statements numbered from 1 to 40. For each value of n from 1 to 40, statement n says "At least n of the statements on this sheet are true." Which statements are true and which are false?
• The even numbered statements are true and the odd numbered are false.
• The first 13 statements are true and the rest are false.
• The first 26 statements are false and the rest are true. 
• The odd numbered statements are true and the even numbered are false.

7. 10 suspects are rounded by the police and questioned about a bank robbery. Only one of them is guilty. The suspects are made to stand in a line and each person declares that the person next to him on his right is guilty. The rightmost person is not questioned. Which of the following possibilities are true? 
A. All suspects are lying or the leftmost suspect is innocent. 
B. All suspects are lying and the leftmost suspect is innocent . 
• B only 
• Neither A nor B
• A only
• Both A and B

8. The citizens of planet nigiet are 8 fingered and have thus developed their decimal system in base 10. A certain street in nigiet contains 1000 (in base 10) buildings numbered 1 to 1000. How many 6s are used in numbering these buildings?
• 64
• 192
• 54
• 256

9. Given 3 lines in the plane such that the points of intersection form a triangle with sides of length 20, 20 and 30, the number of points equidistant from all the 3 lines is
• 0
• 4
• 3
• 1

10. 36 people {a1, a2, ..., a36} meet and shake hands in a circular fashion. In other words, there are totally 36 handshakes involving the pairs, {a1, a2}, {a2, a3}, ..., {a35, a36}, {a36, a1}. Then size of the smallest set of people such that the rest have shaken hands with at least one person in the set is
• 13
• 12
• 18
• 11

11. Alok is attending a workshop "How to do more with less" and today's theme is Working with fewer digits . The speakers discuss how a lot of miraculous mathematics can be achieved if mankind (as well as womankind) had only worked with fewer digits. The problem posed at the end of the workshop is. How many 5 digit numbers can be formed using the digits 1, 2, 3, 4, 5 (but with repetition) that are divisible by 4? Can you help Alok find the answer?
• 500
• 625
• 3125
• 375

12. The IT giant Tirnop has recently crossed a head count of 150000 and earnings of $7 billion. As one of the forerunners in the technology front, Tirnop continues to lead the way in products and services in India. At Tirnop, all programmers are equal in every respect. They receive identical salaries ans also write code at the same rate.Suppose 12 such programmers take 12 minutes to write 12 lines of code in total. How long will it take 72 programmers to write 72 lines of code in total?
• 6
• 12
• 18
• 72

13. After the typist writes 12 letters and addresses 12 envelopes, she inserts the letters randomly into the envelopes (1 letter per envelope). What is the probability that exactly 1 letter is inserted in an improper envelope?
• 12/1212
• 0
• 1/12
• 11/12

14. A circular dartboard of radius 1 foot is at a distance of 20 feet from you. You throw a dart at it and it hits the dartboard at some point Q in the circle. What is the probability that Q is closer to the center of the circle than the periphery?
• 1
• 0.75
• 0.5
• 0.25

15. A hare and a tortoise have a race along a circle of 100 yards diameter. The tortoise goes in one direction and the hare in the other. The hare starts after the tortoise has covered 1/5 of its distance and that too leisurely. The hare and tortoise meet when the hare has covered only 1/8 of the distance. By what factor should the hare increase its speed so as to tie the race?
• 5
• 37.80
• 40
• 8

16. A greengrocer was selling apple at a penny each, chickoos at 2 for a penny and peanuts at 3 for a penny. A father spent 7p and got the same amount of each type of fruit for each of his three children. What did each child get?
• 1 apple, 1 chickoos, 1 peanut
• 1 apple, 2 chickoos, 2 peanuts
• 1 apple, 3 chickoos, 2 peanuts
• 1 apple, 2 chickoos, 1 peanuts

17. Ferrari S.p.A. is an Italian sports car manufacturer based in Maranello, Italy. Founded by Enzo Ferrari in 1928 as Scuderia Ferrari, the company sponsored drivers and manufactured race cars before moving into production of street-legal vehicles in 1947 as Ferrari S.p.A.. Throughout its history, the company has been noted for its continued participation in racing, especially in Formula One, where it has enjoyed great success. Rohit once bought a Ferrari. It could go 2 times as fast as Mohit's old Mercedes. If the speed of Mohit's Mercedes is 32 km/hr and the distance travelled by the Ferrari is 952 km, find the total time taken for Rohit to drive that distance.
• 14.88
• 476
• 29.75
• 15.88

18. The difference between the ages of two of my three grandchildren is 3. My eldest grandchild is three times older than the age of my youngest grandchild and my eldest grandchild's age is two years more than the ages of my two youngest grandchildren added together. How old is my eldest grandchild?
• 15
• 12
• 13
• 10

19. There are two boxes, one containing 10 red balls and the other containing 10 green balls. You are allowed to move the balls between the boxes so that when you choose a box at random and a ball at random from the chosen box, the probability of getting a red ball is maximized. This maximum probability is
• 3 /4
• 37/88
• 1 /2 
• 14/19

20. The teacher is testing a student's proficiency in arithmetic and poses the following question.1/3 of a number is 3 more than 1/6 of the same number. What is the number? Can you help the student find the answer?
• 6
• 12
• 18
• 21

21. One day Rapunzel meets Dwarf and Byte in the Forest of forgetfulness. She knows that Dwarf lies on Mondays, Tuesdays and Wednesdays, and tells the truth on the other days of the week. Byte, on the other hand, lies on Thursdays, Fridays and Saturdays, but tells the truth on the other days of the week. Now they make the following statements to Rapunzel - Dwarf: Yesterday was one of those days when I lie. Byte: Yesterday was one of those days when I lie too. What day is it?
• Sunday
• Thursday
• Monday
• Wednesday

22. There are two water tanks A and B, A is much smaller than B. While water fills at the rate of one litre every hour in A, it gets filled up like 10, 20, 40, 80, 160 .. in tank B. (At the end of first hour, B has 10 litres, second hour it has 20, and so on). If 1/32 of B's volume is filled after 3 hours, what is the total duration required to fill it completely?
• 7
• 8
• 9
• 10

23. A hollow cube of size 5 cm is taken, with a thickness of 1 cm. It is made of smaller cubes of size 1 cm. If 4 faces of the outer surface of the cube are painted, totally how many faces of the smaller cubes remain unpainted?
• 800
• 500
• 488
• 550

These are the questions which I could remember. Among these questions some of them were repeated two to three times with different data’s. 

Technical Interview

The technical round went for about 20-30 minutes. It was very simple. 

• Tell me about yourself


• What is your area of interest


• Other than academics your interest


• Relate C, C++, Java, .Net with a simple program(They asked from the programming languages i gave in the resume) 


• Why java is Platform Independent


• Virtual function


• What is IMS


• Draw Circular linked list, real time example


• What is Inheritance with Real time example


• Relate types of inheritance with real time examples


• Interviewer was seeing my mark sheets, from the subjects I have learned in the previous semester she asked questions like.


- What u know in system software


- Topology with real time example


- What is LAN, WAN, MAN


- What Kind of network is BSNL 


• What is a protocol? types of protocol


• Https


• Explain your project


Then she asked me do you  have any questions?? 
And I asked here some of the things...
She explained it clearly.
Then she wished me all the best...
That’s it... My technical round was over

 


HR Interview:

There were two people interviewing me...

 


• Tell me about yourself
• Why TCS
• What are TCS Values?
They asked me only these much questions, and said u may leave... Thank u 
I wished them the same and left the panel. It got over by 24th 7.00pm
For some of them after aptitude there were only one round but it was combined (Technical + HR)
I was a bit a nervous about the result.
And on 25th 5.30 pm they announced the results. And I was one among the selected candidates.

So TCS Interview process is very simple. You may get through it very easily. All the very best wishes!

TCS 2011 placement paper pattern and questions asked

Selection process:
1) Written Test 
2) Technical cum HR interview.
Written Test: Written test consists of 35 questions 80min,previously it is 60min but now time they increased 20min.It is a online test .

Pattern 1: 
1. (1/2) of a number is 3 more than the (1/6) of the same number? 
a) 6 
b)7 
c)8 d)9

Solution: Let the number be x, ((1/2)*x)=3+(1/6)*x, Then solve x

2. (1/3) of a number is 3 more than the (1/6) of the same number? 
a) 6 
b)16 
c)18 
d)21

3. (1/3) of a number is 6 more than the (1/6) of the same number? 
a) 6 
b)18 
c)36 
d)24

4. (2/3) of a number is 4 more than the (1/6) of the same number? 
a) 6 
b)8 
c)36 
d)24

5. (1/3) of a number is 5 more than the (1/6) of the same number? 
a) 6 
b)36 
)30 
d)72

Pattern 2: 
1. There are two water tanks A and B, A is much smaller than B. While water fills at the rate of 1 liter every hour in A, it gets filled up like, 10, 20, 40,80, 160…..in tank B. (At the end of first hour, B has 10 liters, second hour it has 20 liters and so on). If tank B is 1/32 filled of the 21 hours, what is total duration of hours required to fill it completely? 
a) 26 
B)25 
c)5 
d)27
Solution: for every hour water in tank in B is doubled, Let the duration to fill the tank B is x hours. x/32 part of water in tank of B is filled in 21 hours, Next hour it is doubled so, 2*(x/32) part i.e (x/16) part is filled in 22 hours, Similarly (x/8)th part in 23 hours,(x/4)th part is filled in 24 hours, (x/2)th part is filled in 25 hours, (x)th part is filled in 26 hours So answer is 26 hours.

2. There are two pipes A and B. If A filled 10 liters in an hour, B can fill 20 liters in same time. Likewise B can fill 10, 20, 40, 80, 160…... If B filled in 1/16 of a tank in 3 hours, how much time will it take to fill the tank completely? 
a) 9 
B)8 
c)7 
d)6

3. There are two water tanks A and B, A is much smaller than B. While water fills at the rate of 1 liter every hour in A, it gets filled up like, 10, 20, 40,80, 160…..in tank B. 1/8 th of the tank B is filled in 22 hours. What is the time to fill the tank fully? 
a) 26 
B)25 
c)5 
d)27

4. A tank is filled with water. In first hour 10 liters, second hours 20 liters, and third hour 40 liters and so on…If time taken to fill ¼ of the tank if 5 hours. What is the time taken to fill up the tank? 
a) 5 
B)8 
c)7 
d)12.5

5. If a tank A can be filled within 10 hours and tank B can be filled ¼ in 19 hours then, what is the time taken to fill up the tank completely? 
a) 21 
B)38 
c)57 
d)76

Pattern 3:
1. 6 persons standing in queue with different age group, after two years their average age will be 43 and seventh person joined with them. Hence the current average age has become 45. Find the age of seventh person? 
a) 43 
b)69 
c)52 
d)31
Solution: Total age of 6 persons is x hours,after two years total age of 6 persons is x+12 Average age of 6 persons is after two years is 43 So (x+12)/6=43,then solve x, After 7th person is added then (x+7th person age)/7=45 So we will get 7th person age easily

2. In a market 4 men are standing. The average age of the four before 4years is 45, after some days one man is added and his age is 49. What is the average age of all? 
a) 43 
b)45 
c)47 
d)49

3. In a shopping mall with a staff of 5 members the average age is 45 years. After 5 years a person joined them and the average age is again 45 years. What’s the age of 6th person? 
a) 25
b)20 
c)45 
d)30

4. In a market 4 men are standing .The average age of the four before 2 years is 55, after some days one man is added and his age is 45. What is the average age of all? 
a) 55 
b)54.5 
c)54.6
d)54.7 

Pattern 4: 
1. In the reading room of a library, there are 23 reading spots. Each reading spot consists of a round table with 9 chairs placed around it. There are some readers such that in each occupied reading spot there are different numbers of readers. If in all there are 36 readers, how many reading spots do not have even a single reader? 
a)8 
b)none 
c)16 
d)15 
Solution: 23 reading spots, Each reading spot consists of 9 chairs placed around it so There are some readers such that in each occupied reading spot there are different numbers of readers. For each table different no of persons are sat,so for first table 1 person is sit,2nd table 2 persons are sit 36 readers means(1+2+3+4+5+6+7+8 so 8 tables are filled so 23-8=15 reading spots does not have single reader.

2. In the reading room of a library, there are 10 tables, 4 chairs per table. In each table there are different numbers of people seated. How many tables will be left out without at least 1 person? 
a) 8 
b)6 
c)2 
d)7 

3. In the reading room of a library, there are 10 tables, 4 chairs per table. In each table there are different numbers of people seated. How many ways they will sit in the library so that no chair would be blank? 
a) 8 
b)6 
c)2 
d)7 

Pattern 5:
1. A man jogs at 6 mph over a certain journey and walks over the same route at 4 mph. What is his average speed for the journey? 
a) 2.4 mph 
b) 4.8 mph 
c) 4 mph 
d) 5 mph
Solution: Average speed=(2*x*y)/(x+y)

2. A man travels from A to B at 4 mph over a certain journey and returns over the same route to A, at 5 mph. What is his average speed for the journey? 
a) 4.44 mph 
b) 4.8 mph 
c) 4.887 mph 
d)5 mph

3. A person is rock climbing at an altitude of 800 m. He go up by 7 mph. and come down by 9 mph. what was his average speed? 
a) 7.875 mph 
b) 7.125 mph 
c) 7mph 
d) 7.5 mph

4. Find average speed if a man travels at speed of 24kmph up and 36kmph down at an altitude of 200m? 
a) 28.8 mph 
b) 27.8 mph 
c) 27.5mph 
d) 30 mph

5. Person travels to a hill, if he goes from A to B with speed of 4kmph and returns back to B with speed of 5kmph. What is his average speed of journey? 
a) 4.5kmph 
b) 4.44kmph 
c) 9kmph 
d) 4.245kmph

6. A man travels from A to B at 70 mph over a certain journey and returns over the same route to A, at 80 mph. What is his average speed for the journey? 
a) 74.66 
b)75 
c)74.33 
d)74.99 7. 

Find average speed if a man travels at speed of 24kmph up and 36kmph down at an altitude of 200m. 
a) 28.8 
b)28 
c)27 
d)28.6

Pattern 6 
1. Susan made a block with small cubes of 8 cubic cm volume to make a block ,3 small cubes long, 9 small cubes wide and 5 small cubes deep. She realizes that she has used more small cubes than she really needed. She realized that she could have glued a fewer number of cubes together to lock like a block with same dimensions, if it were made hollow. What is the minimum number of cubes that she needs to make the block? 
a) 114 
b) 135 
c) 21 
d) 71 
Solution: I do not know perfectly but I got some solutions from internet I do not know correctly whether it is tru e or not,((3*9*5))-((3-2)*(9-2)*(5-2)) so answer is 114.

2. A boy wants to make cuboids of dimension 5m, 6m and 7m from small cubes of .03 m3. Later he realized he can make same cuboids by making it hollow. Then it takes some cubes less. What is the number of the cubes to be removed? 
a) 2000 
b) 5000
c) 3000 
d) 7000 

3. Smita was making a cube with dimensions 5*5*5 using 1*1*1 cubes. What is the number of cubes needed to make a hollow cube looking of the same shape? 
a) 98 
b) 104 
c) 100 
d) 61 

4. Leena cut small cubes of 10 cm dimension each. She joined it to make a cuboid of length 100 cm, width 50 cm and depth 50 cm. How many more cubes does she need to make a perfect cube? 
a)500 
b)250 
c)750 
d)650

5. Leena cut small cubes of 3 cubic cm each. She joined it to make a cuboid of length 10 cm, width 3 cm and depth 3 cm. How many more cubes does she need to make a perfect cube? 
a) 910 
b) 250 
c) 750 
d) 650 

6. A lady builds 9cm length, 10cm width,3cm height box using 1 cubic cm cubes. What is the minimum number of cubes required to build the box? 
a) 730 
b) 270 
c) 720 
d) 310 

Pattern 8: 
1. (40*40*40 – 31*31*31)/(40*40+40*31+31*31)=? 
a)8 
b)9 
c)71 
d)51
Solution: a3 -b3 =(a-b)*(a2+a*b+b2) so from this formula we will find (a-b) value

2. (98*98*98 – 73*73*73)/( 98*98*98 – 73*73*73)=? 
a).171 
b).4 
c).420 
d).415

3. (209*144)^2 + (209*209)+(209*144)+(144*144) = ? 
a)905863729 
b)905368729 
c)905729368 
d)65 

Pattern 9: 
1. ((4x+3y)+(5x+9y))/(5x+5y) = ? as (x/2y) = 2 
a)8 
b)none 
c)16 d)15
Solution: substitute x=4y in above we can find solution

2. x/2y = 2a,then 2x/x-2ay=? 
a)4 
b)8 
c)16 
d)2

3. 3X/5Y = 5Y/3X…..Find the value of X/Y 
a)3/5 
b)5/3 
c)2/5 
d)5/2

4. What is the value of (3X+8Y)/(X-2Y), if X/2Y=2
a)8 
b)none 
c)10 
d)13

5. (4x+3y)+(5x+9y))/(5x+5y) = ? as (x/2y) = 2 
a)48/5 
b)46/5 
c)47/5 
d)49/5

6. ((4x+2y)/(4x-2y)= ? as (x/2y) = 2 
a)8/7 
b)9/7 
c)11/7 
d)6/7 

Pattern 10: 
1. A girl has to make pizza with different toppings. There are 8 different toppings. In how many ways can she make pizzas with 2 different toppings? 
a)16 
b)56 
c)112 
d)28
Solution: 8c2

2. A pizza shop made pizzas with many flavors. There are 10 different flavors, in that 7 flavors are taken to make pizza. In how many ways they can arrange? 
a)240 
b)120 
c)65 
d)210

3. A pizza shop made pizzas with many flavors. There are 9 different flavors, in that 2 flavors are taken to make pizza. In how many ways they can arrange? 
a)16 
b)26 
c)36 
d)46 

Pattern 11: 
1. 3, 22, 7, 45, 15,? , 31 
a)91 
b)151 
c)90 
d)5

2. 8 6 17 14 35 31 75 _ 143? 3. Inspired by Fibonacci series Sangeet decided to create his own series which is 1, 2, 3, 7, 7, 22, 15, 67, 31, _, 63? 
a)202 
b)31 
c)76 
d)49

4. 3, 12, 7, 26, 15, ? 
a)54 
b)27 
c)108 
d)31

5. 1! + 2! + ……. + 50!=? 
a)3.1035*10^64 
b)2.1021*10^65 
c)3.1035*10^63 
d)3.1035*10^62

6. 1, 2, 3, 6, 7, 14, _, 32?
7. 5, 9, 12, 18, 26, 36, 47, 72, _?
a)75 
b)135
c)100 
d)55

8. 3, 15, x, 51, 53,159,161 
a)17 
b)34 
c)54 
d)112 

Pattern 12: 1. Simple question but big one on average age.sth like a, b, c weighted separately 1st a, b, c ,then a& b, then b &c ,then c & a at last abc, the last weight was 167,then what will be the average weight of the 7 reading? 
a)95 
b)95.428 
c)95.45 
d)94
Solution: last weight abc is 167i.e three persons weight is 167 .in first 6 combinations a,b,c,ab,bc,ac i.e a checked weight for 3 times totally like that band c also so total weight in all 7 combinations is (4*167) Average is (668/7)=95.42

Pattern 13: 

1. A toy train produces 10 different sounds when it moves around a circular toy track of radius 5 m at 10 m per min. However, the toy train is defective and it now produces only 2 different tunes at random. What are the odds that the train produces for consecutive music tones of the same type? 
a) 1 in 16 
B)1 in 4 
c)1 in 8 
d)1 in 32
Solution: initially it produces 10 sounds and the defect came and now it produces only 2 different sounds and consecutively so there are totally 2 sounds and we have to select on sound and the probability is ½ and it produces the same sound concecutively for 2 times so the probability becomes ½*1/2 ie ¼

2. A car manufacturer produces only red and blue models which come out of the final testing area at random. What are the odds that five consecutive cars of same color will come through the test area at any one time? 
a)1 in 16 
b)1 in 125 
c)1 in 32 
d)1 in 25 

Pattern 15:
1. A triangle is made from a rope. The sides of the triangle are 25 cm, 11 cm and 31 cm. What will be the area of the square made from the same rope? 
a)280.5625 
b)240.5625 
c)280.125
d)240
Solution: add all sides 25+11+31 to get rope length rope length =67,rope is made in to as square So side of square is 67/4=16.75 and so area is 16.75*16.75=280.5625 

2. A triangle is made from a rope. The sides of the triangle are 21 cm, 24 cm and 28 cm. What will be the area of the square made from the same rope? 
a)280.5625 
b)333.0625 
c)333.0125 d
)400 

Pattern 16: 
1. What is the distance between the z-intercept from the x-intercept in the equation ax+by+cz+d=0
Solution: intercept form equation

2. What is the distance of the z-intercept from the x-intercept in the equation ax+by+cz=d (I do not remember the values of a, b, c, d). 

Pattern 17: 
1. A scientist was researching on animal behavior in his lab. He was very interested in analyzing the behavior of bear. For some reason he travelled 1mile in north direction & reached at North Pole. There he saw a bear. He then followed the bear around 1 hr with a speed of 2km/hr in east direction. After that he travelled in south direction & reached at his lab in2 hrs. Then what is the color of the bear? 
a)white 
b)black 
c)gray 
d)brown
Solution is :White .above all the matter is nonsense 

Pattern-18: 
1. Out of 7 children the youngest is boy then find the probability that all the remaining children are boys 
a)1/64 
b)1/32 
c)1/128 
d)1/256

Pattern 19: 
1. Usha bought a linen cloth and rope to build a tent. If the rope is 153 m long and it is to be cut into pieces of 1m length, then how many cuts are to be made to cut the ropes into 153 pieces? 
a)153 
b)152 
c)154 
d)155
Solution:to make it 153 pieces we have to cut 152 times so obviously after last cut we got 153rd piece 

2. A person has to make 146 pieces of a long bar. He takes 4 seconds to cut a piece. What is the total time taken by him in seconds to make 146 pieces? 
a)584 
b)580 
c)730 
d)725
Solution:146 pieces means 145 cuts so for each cut it takes 4 seconds means total time 145*4=580 

3. A person has to make 141 pieces of a long bar. He takes 2 seconds to cut a piece. What is the total time taken by him in seconds to make 141 pieces? 
a)560 
b)280 
c)112 
d)324

Pattern 20:
1. Spores of a fungus, called late blight, grow and spread infection rapidly. These pathogens were responsible for the Irish potato famine of the mid-19th century. These seem to have attacked the tomato crops in England this year. The tomato crops have reduced and the price of the crop has risen up. The price has already gone up to $45 a box from $27 a box a month ago. How much more would a vegetable vendor need to pay to buy 27 boxes this month over what he would have paid last month? 
a) $27 
b)$ 18 
c)$45 
d)$ 486
Solution: see last 3 lines only answer is 45-27=18 

Pattern 21: 
1. A Person buys a horse for 15 ponds, after one year he sells it for 20 pounds. After one year, again he buys the same horse at 30 pounds and sells it for 40 pounds. What is the profit for that person?
Solution: here we cannot consider depreciation or decay of item accto answer so go acc to answer Totally 5+10=15$profit

Pattern 22: 
1. John buys a cycle for 31 dollars and given a cheque of amount 35 dollars. Shop Keeper exchanged the cheque with his neighbor and gave change to John. After 2 days, it is known that cheque is bounced. Shop keeper paid the amount to his neighbor. The cost price of cycle is 19 dollars. What is the profit/loss for shop keeper? 
a)loss 23 
b)gain 23 
c)gain 54 
d)Loss 54
Solution: loss =change of money given to john(4$)+actual cycle cost 19$=23$ loss 

Pattern 23: 
1. A lady has fine gloves and hats in her closet- 18 blue, 32 red, and 25 yellow. The lights are out and it is totally dark. In spite of the darkness, she can make out the difference between a hat and a glove. She takes out an item out of the closet only if she is sure that if it is a glove. How many gloves must she take out to make sure she has a pair of each color? 
a)50 
b)8 
c)60 
d)42

2. A lady has fine gloves and hats in her closet- 14 blue, 20 red, and 18 yellow. The lights are out and it is totally dark. In spite of the darkness, she can make out the difference between a hat and a glove. She takes out an item out of the closet only if she is sure that if it is a glove. How many gloves must she take out to make sure she has a pair of each color? 

3. A lady has fine gloves and hats in her closet- 13 blue, 27 red, and 40 yellow. The lights are out and it is totally dark. In spite of the darkness, she can make out the difference between a hat and a glove. She takes out an item out of the closet only if she is sure that if it is a glove. How many gloves must she take out to make sure she has a pair of each color? 

4. A lady has fine gloves and hats in her closet- 25blue, 7 red, and 9 yellow. The lights are out and it is totally dark. In spite of the darkness, she can make out the difference between a hat and a glove. She takes out an item out of the closet only if she is sure that if it is a glove. How many gloves must she take out to make sure she has a pair of each color? 

5. A lady has fine gloves and hats in her closet- 26 blue, 30 red, and 56 yellow. The lights are out and it is totally dark. In spite of the darkness, she can make out the difference between a hat and a glove. She takes out an item out of the closet only if she is sure that if it is a glove. How many gloves must she take out to make sure she has a pair of each color? 

Pattern 24: 
1. Sangakara and Ponting selects batting by using a dice, but dice is biased. So to resolve, Ponting takes out a coin. What is the probability that coin shows correct option? 
a)1/2 
b)1/6 
c)1/12 
d)6/10
Solution is ½.

2. There is a die with 10 faces. It is not known that fair or not. 2 captains want to toss die for batting selection. What is the possible solution among the following? 
a) If no. is odd it is head, if no. is even it is tail 
b) If no. is odd it is tail, if no. is even it is head 
c) Toss a die until all the 10 digits appear on top face. And if first no. in the sequence is odd then consider it as tail. If it is even consider it as head. 

Pattern 25: 
1. In a family there are some boys and girls. All boys told that they are having equal no of brothers and sisters and girls told that they are having twice the no. of brothers than sisters. How many boys and girls present in a family? 
a)4 boys and 3 girls 
b)3 boys and 4 girls 
c)2 boys and 5 girls 
d)5 boys and 2 girls 

Pattern 26:
1. 10men and 10 women are there, they dance with each other, is there possibility that 2 men are dancing with same women and vice versa? 
a)22 
b)20 
c)10 
d)none

2. There are 100 men and 100 women on the dance floor. They want to dance with each other. Then which of the following statements is always true: a) There are 2 men who danced with equal no. of women’s b) There are 2 women who danced with equal no. of men 
a) both a and 
b b)only a 
c)only b 
d)none 

Pattern 27: 
1. Middle- earth is a fictional land inhabited by hobbits, elves, dwarves and men. The hobbits and elves are peaceful creatures that prefer slow, silent lives and appreciate nature and art. The dwarves and the men engage in physical games. The game is as follows. A tournament is one where out of the two teams that play a match, the one that loses get eliminated. The matches are played in different rounds, where in every round; half of the teams get eliminated from the tournament. If there are 8 rounds played in knock out tournament, how many matches were played? 
a)257 
b)256
c)72 
d)255
Solution: do not know perfect logic 28 2. A game is played between 2 players and one player is declared as winner. All the winners from first round are played in second round. All the winners from second round are played in third round and so on. If 8 rounds are played to declare only one player as winner, how many players are played in first round?
a)256 
b)512 
c)64 
d)128 

Pattern 28: 
1. Metal strip of width ‘x’ cm. 2 metal strips are placed one over the other, then the combine length of 2 strips is ‘y’. If ‘z’ strips are placed in that manner. What is the final width of that arrangement?

2. A, B, C, D, E are there among A, B, C are boys and D, E are girls D is to the left of A and no girl sits at the middle and at the extemes. Then what is the order of their sittings. 

Pattern 29: 
1. There is 7 friends (A1, A2, A3....A7).If A1 have to have shake with all without repeat. How many handshakes possible? a)6 b)21 c)28 d)7 Solution:For handshakes type question i am confirming u that if the there are n members are thereHandshakes are given in linear manner =n-1(last person cannot give hand shake to first person) Handshakes are given in cyclic manner =n(last person can give hand shake to first person) But i do not know perfectly for repetition it is nc2

2. 49 members attended the party. In that 22 are males, 17 are females. The shake hands between males, females, male and female. Total 12 people given shake hands. How many such kinds of such shake hands are possible? 
a)122 
b)66 
)48 
d)128 

Pattern 30: 
1. B is taller than j and 3 pillars. P is shorter than B and 2 pillars is j shorter/taller than P? 
a)yes 
b)no
c)may be 
d)can’t find 

2. There are 1000 pillars for a temple. 3 friends Linda, Chelsey, Juli visited that temple. (Some unrelated stuff) Linda is taller than Chelsea and taller than 2 of 1000 pillars. Julia is shorter than Linda. Find the correct sentence? a) Linda is shorter among them 
b) Chelsea is taller than Julia 
c) Chelsea is shorter than Julia 
d) Cannot determine who is taller among Chelsea and Julia 

Pattern-31 
1. Entry ticket to an exhibition ranges from 1p to 31p. You need to provide exact change at the counter. You have 31p coin. In how many parts will u divide 31p so that u will provide the exact change required and carry as less coins as possible? 
a)4 
b)5 
c)6 
d)7
Solution: in btech we studied 8 4 2 1 code for binary system in digital logic proceed in that way for answer it is 16 8 4 2 1 if u add all we will get 31 so 5 coins required 

Pattern 32 
1. Peter and Paul are two friends. The sum of their ages is 35 years. Peter is twice as old as Paul was when Peter was as old as Paul is now. What is the present age of Peter? 
a)8 
b)20 
c)16 
d)15

Pattern 33 
1. 20 men handshake with each other without repetition. What is the total number of handshakes made? 
a)190 
b)210 
c)150 
d)250

2.10 people are there, they are shaking hands together, how many hand shakes possible, if they are in no pair of cyclic sequence. 
a)45 
b)9 
c)12 
d)10 

Pattern 34 
1. If there are 2 wheelers and 4 wheelers parked in a school located at the heart of the city, find the number of 4 wheelers parked there if there were 20 two wheelers parked there 
a)48 
b)50 
c)52 
d)64
Solution: proceed with answer is best in question they will give total no of wheels

2. If there are 2 wheelers and 4 wheelers parked in a school located at the heart of the city, find the number of 4 wheelers parked there if there were 58 wheels are parked there 
a)10 
b)33 
c)22 
d)none 

Pattern 35 
1. A man whose age is 45 yrs has 3 sons named John, Jill, jack. He went to a park weekly twice. He loves his sons very much. On a certain day he found the shop keepers selling different things. An apple cost 1penny, 2chocalate costs 1penny & 3 bananas cost 1 penny. He has bought equal number of apple, chocolate & banana for each son. If the total amount he invest is 7 penny then how many he has bought from each piece for his son? 
a)1app,1cho,1 banana 
b)1 app,2cho,3 banana 
c)1app,2cho,1banana 

2. One person had three children. He had 7 pennies. Find the distribution of the fruits among the three children. A melon costs 1 penny, 2 oranges cost 1 penny and 3 grapes cost 1 penny 
a)2 melons, 1 orange, 1 grape 
b) 2 melons, 2 orange, 1 grape 
c) 1 melons, 2 orange, 1 grape. 

Pattern 36 
1) The age of the two friends were in the ration of 6:5.If the sum of their ages is 55.Then after how many years their ratio will become 8:7? 
a)11 
b)7 
c)10 
d)12
Solution:6x+5x=55, so x=5,put first ratio after substitution is (6*5)/(5*5) and second ratio is 40/35 So difference in numerators 40-30=10 years 

2)The age of the two friends were in the ration of 6:5.If the sum of their ages is 66.Then after how many years their ratio will become 7:6? 
a)11 
b)6 
c)10
d)12 

3) The age of the two friends were in the ration of 2:3.If the sum of their ages is 55.Then after how many years their ratio will become 4:5? 
a)11 
b)33 
c)22 
d)44 

Pattern 37 
1)A volume of 10936 l water is in a container of sphere.How many semisphere of volume 4l each will be required to tranfer all the water into the small semispheres? 
a)2812 
b)8231 
c)2734
d)4222 

Pattern 38 
1)A person ismanufacturing a house.He bought 20 ropes of wire which has a density of 300 Kg/m3.The height of the building to be constructed is 40 m.If the capacity of the current passed in the wire is 20 A and the voltage capacity is 80 Volts.Then what will be the opposing force to the current if the wire is used ? 
a)2 
b)4 
c)8 
d)1600
Solution: ohms law V=IR,Opposing force of current is resistance,R=v/i 

Pattern 39 
1)A horse chases a pony 2 hours after the pony runs.Horse takes 3 hours to reach the pony.If the average speed of the horse is 81Kmph.Then what is the average speed of the pony? 
a)46.4 
b)51 
c)53.4 
d)48.6
Solution:Horse takes 3 hours to cover the distance Pony takes 3+2 =5 hours to cover the same distance,Velocity=distance/time,distance travelled by them is equal it is 81*3=243km,speed of pony=243/5=48.6 

2) A horse chases a pony 3 hours after the pony runs. Horse takes 4 hours to reach the pony. If the average speed of the horse is 35 kmph, what s the average speed of the pony? 

Pattern 40 
1)The difference between two no is 9 and the product of the two is 14.What is the square of their sum? 
a)120 
b)130 
c)137 
d)145
Solution: a-b=9,ab=14,(a-b)2=a2+b2-2*a*b 2) The sum of two no is 5 and the product of the two is 14.What is the sum of their squares? 

3) The sum of the squares of two no is 12 and their sum is 15.Find the product of the two no? 

Pattern 41 
1) On planet korba, a solar blast has melted the ice caps on its equator. 9 years after the ice melts, tiny planetoids called echina start growing on the rocks. Echina grows in the form of circle, and the relationship between the diameter of this circle and the age of echina is given by the formula d = 4*√ (t-9) for t ≥ 9 where d represents the diameter in mm and t the number of years since the solar blast.Jagan recorded the radius of some echina at a particular spot as 7mm. How many years back did the solar blast occur? 
a) 17 
b)21.25 
c)12.25 
d)14.05
Solution: radius =7mm,then diameter 2*radius,substitude diameter d in above equation you will get answer

Pattern 42 
1)A man goes 50Km north , then turned left walked 40Km, then turned right ? In which direction he is?
a)North 
b)South 
c)East 
d)West

Pattern 43 
1) In T.Nagar the building were numbered from 1 to 100.Then how many 4’s will be present in the numbers? 
a)18 
b)19 
c)20
d)21.
Solution:you have to count and answer but be prepare with answer 

2) In T.Nagar the building were numbered from 1 to 100.Then how many 6’s will be present in the numbers? 
a)18 
b)19 
c)20 
d)21 

3) In T.Nagar the building were numbered from 1 to 100.Then how many 1’s will be present in the numbers? 
a)18 
b)19 
c)20 
d)21 

4) In T.Nagar the building were numbered from 1 to 100.Then how many 0’s will be present in the numbers? 
a)18 
b)19 
c)20 
d)11 

Pattern 44 
1) A number when divided by D leaves a remainder of 8 and when divided by 3D leaves a remainder of 21. What is the remainder left, when twice the number is divided by 3D? 
a) 13 
b) cannot be determined 
c) 3 
d) 42

Pattern 45 
1.) Ferrari S.P.A is an Italian sports car manufacturer based in Maranello, Italy. Founded by Enzo Ferrari in 1928 as Scuderia Ferrari, the company sponsored drivers and manufactured race cars before moving into production of street-legal vehicles in 1947 as Ferrari S.P.A. Throughout its history, the company has been noted for its continued participation in racing, especially in Formula One where it has employed great success .Rohit once bought a Ferrari. It could go 4 times as fast as Mohan's old Mercedes. If the speed of Mohan's Mercedes is 35 km/hr and the distance traveled by the Ferrari is 490 km, find the total time taken for Rohit to drive that distance. 
a) 20.72 
b) 3.5 
c) 238.25 
d) 6.18
Solution: speed of Ferrari =4*35=140,time=distance/velocity,

2) Ferrari S.P.A is an Italian sports car manufacturer based in Marane llo, Italy. Founded by Enzo Ferrari in 1928 as Scuderia Ferrari, the company sponsored drivers and manufactured race cars before moving into production of street-legal vehicles in 1947 as Ferrari S.P.A. Throughout its history, the company has been noted for its continued participation in racing, especially in Formula One where it has employed great success .Rohit once bought a Ferrari. It could go 4 times as fast as Mohan's old Mercedes. If the speed of Mohan's Mercedes is 46 km/hr and the distance traveled by the Ferrari is 953 km, find the total time taken for Rohit to drive that distance. 
a) 20.72 
b) 5.18 
c) 238.25 
d) 6.18

Pattern 46
1) A sheet of paper has statements numbered from 1 to 70. For all values of n from 1 to 70. Statement n says ' At least n of the statements on this sheet are false. ‘Which statements are true and which are false? 
a) The even numbered statements are true and the odd numbered are false. 
b) The odd numbered statements are true and the even numbered are false. 
c) The first 35 statements are true and the last 35 are false. 
d) The first 35 statements are false and the last 35 are false.

Pattern 47 
1) A man goes north 37km.turns left goes 2km.turns right goes 17km.turns right goes 2km. find distance b/w starting ending point. 
a) 54 
b) 27 
c) 81 
d) 67
Pattern 48

1) If there are 30 cans out of them one is poisoned if a person tastes very little he will die within 14 hours so if there are mice to test and 24 hours to test, how many mices are required to find the poisoned can? 
a) 3 
b) 2 
c) 6 
d) 1
Pattern 49 

1) If a and b are mixed in 3:5 ration and b and c are mixed in 8:5 ration if the final mixture is 35 liters, find the amount of b? 
A) 13.34 
b) 15.73 
c) 16.73 
d) 9.45
Solution: solve for a:b:c,then b ratio is b/(a+b+c)*35

Pattern 50 
1) If we subtract a number with y, we get 4 increase of number, once it got divided by y itself... Find that number?? 
A) 13 
b) 12 
c) 14 
d) 11

Pattern 51 
1) It is the class with the seating arrangement in 4 rows and 8 columns. When the teacher says 'start' the girl who is sitting in first row and first column will say 1, then the next girl sitting behind her will say 4, the next girl sitting behind that girl will say 7, in a particular order each girl is telling a number, the following girls told 10, 13 next turn is yours what u will say? 
a) 15 
b) 17 
c) 14 
d) 16
Solution: it is a series 1,4,7,10,13...........

Pattern 52 
1) It is dark in my bedroom and I want to get two socks of the same color from my drawer, which contains 24 red and 24 blue socks. How many socks do I have to take from the drawer to get at least two socks of the same color? 
A) 2 
b) 3 
c) 48 
d) 25

2) Lady has 2 select gloves & hat from a basket. In the dark, she can distinguish hat&gloves.14red, 20blue, 18green r there. Find probability that any selected glove pair has same color.

3). A lady had fine gloves and hats. 25 blue, 7 red and 9grey. She had to select a pair among them. But there was no light so she had to select in darkness the correct pair with a glove and a hat. Therefore how many combinations of same color she can select?

Pattern 53 
1) If the Valentine’s Day in 2005 falls on Monday, then on which day will the Valentine’s Day fall on 2010? 
A) Saturday 
b) Thursday 
c) Wednesday 
d) Sunday

Pattern 54 
1. A person run from A to B.He took ¼ of the time less to reach B when compare to run at normal Speed.Then how many percentage he has increased his speed? 
a) 40 
b) 44.4 
c) 33.3 
d) 22.2
Solution: i do not know perfectly but i have simple logic,1-(1/4)=(3/4),then reverse it so it is 4/3=1.333,1.33-1=33.33 like this 

2. An athlete decides to run the same distance in 1/4th less time that she usually took. By how much percent will she have to increase her average speed? 
a)40 
b)44.4 
c)33.3 
d)22.2 

Pattern 55 
1. In a building there are 5 rooms.Each having a equal area .The length of the room is 4m and breadht is 5 m.The height of the rooms are 2m.If 17 bricks are needed to make a square meter then how many bricks are needed to make the floor of a particular room? 
a)320 
b)380 
c)340 
d)300 
Solution: area of the room is length*breadth=4*5=20m2,For one square meter it takes 17 bricks,For 20m2 total no of bricks are 17*20=340,

Pattern 56 
1. One man want to build a wall .The length and breadth of the wall are 20 and 30 respectively. He need 35 bricks for one square centimeter then how many bricks he need? 
a)21,500 
b)30,000 
c)21,000 
d)20,000 

Pattern 57 
1. In a hotel we can order two types of varities,but we can make 6 more variteis in home.One can choose the four varities with two from hotel as must.Find how many ways one can order. 
a)14 
b)15 
c)56 
d)28 

Pattern 58 
1. If a pipe can fill the tank within 6hrs.But due to leak it takes 30 min more.Now the tank is full then how much time will it take to empty the tank throught the leak.? a)78 b)56 c)66 d)59 Pattern 59 1.The bacteria has the probability of split into 3 and probability to die is 1/3rd of the total bacteria.Let the probability is P.Some of them survived with probability 1/5.Then which among the following relation is true?
a)P=1/3+1/5*3 
b)P=1/5*(1/8-3) 

2. There is a bacteria which has the probability of die 1/3 of its total number or it may tripled. Find out the probability 
A. P=1/3+(2/3*p^3) B. P=2/3+(2/3*p^3) C. P=2/3+(1/3*p^3) D P=2/3+(2/3*p^3) 

Pattern 60 
1. There was a grand mother in a village who had a grand child.Upon asking her grand childs age she told that she is as older as many days old as her daughters age in weeks and as many days as her own age in years.The sum of the three is 130.then how old is the child.? 

Pattern 61 
1) In T.Nagar the building were numbered from 1 to 100.Then how many 4’s will be present in the numbers? 
a)18 
b)19 
c)20
d)21 

2) In Tnagar many buildings were under residential category.for buildings they number as 1 to 100. For shops, corporation numbered between 150 and 200 only prime numbers. how many time 6 will appear in building numbering? 

Pattern 62 
1)Amrith told to Anand in front of a Photo that “He is the son of my father’s son”. Find who is in the picture if amrith have no brothers and sisters. 
a)Amrith himself 
b)Amrith’s Uncle 
c)Amrith’s Father 
d)Amrith’s son 

2) One person has no siblings and says,” the guy in the photo is the only son of my father ‘s son”. What is the relation of the guy to the person? 

Pattern 63 
1) One grand father has 3 grand children two of the age difference is 3.Eldest child age is 3 times the youngest childs age and the eldest child age is two year more than the sum of other two children. Find what is the age of the elders child? 
a)18 
b)22 
c)30 
d)10.
Solution: there are 3 childs,let the age of younger be x,elder be 3x,so the middle one be m,3x=2+x+m,then we have a-b=3 or b-c=3,or a-c=3,then for answer we have to go via options ,substitute that in above equations 

2) One grandfather has three grandchildren, two of their age difference is 3, eldest child age is 3 times youngest child’s age and eldest child’s age is two times of sum of other two children. What is the age of eldest child? 

Pattern 64 
1) In a school, for a student out of 100 he got 74 of average for 7 subjects and he got 79 marks in the 8th subject. what is the average of all the subject? 
a)76.251 
b)80.25 
c)74.265 d
)74.625
Solution: total marks=74*7=518,then average=(518+79)/8=74.625 

Pattern 65 
1) 3 persons a,b,c were there A always says truth,B lies on Monday,tusday,& Wednesday.but C lies on thrusday,Friday & saturday .one day A said”that B & C said to A that” B said “yesterday way one of the days when I lies”,C said that”yesterday way one of the days when I lies too”.then which day was that? 
a)Sunday 
b)Thursday 
c)Saturday 
d)Tuesday

Pattern 66 
1) Which is the smallest no which divides 2880 and gives a perfect square? 
a)4 
b)9 
c)3 
d)5
Solution: for answer solve via options 

Pattern 67 
1) How many 9 digit numbers are possible by using the digits 1,2,3,4,5 which are divisible by 4 if the repetition is allowed? 
a)57 
b)56 
c)59 
d)58 

2) how many 13 digit numbers are possible by using the digits 1,2,3,4,5 which are divisible by 4 if repetition of digits is allowed? 

3) By using 1,2,3,4,5,how many 5 digit no. can be formed which is divisible by 4,repetation of no. is allowed??

4) Form 8 digit numbers from by using 1, 2,3,4,5 with repetition is allowed and must be divisible by4? 

5) How many of 14 digit numbers we can make with 1,2,3,4,5 that are divisible by 4. Repetitions allowed.

Pattern 68
1) Consider two tumblers, the first containing Water and next contains coffee. Suppose you take one spoon of water out of the first tumbler and pour it into the second tumbler. After moving you take one spoon of the mixture from the second tumbler and pour it back into the first tumbler . Which one of the following statement holds now? 
a) There is less coffee in the first tumbler than water in the second tumblers 
b) There is more coffee in the firs tumbler than water in the second tumbler 
c) There is as much coffee in the first tumbler as there is water in the second tumbler 
d) None of the statements holds true
Solution :think wisely and answer these are asked in my paper 2 or 3 questions 

2) Two bowls are taken, one contains water and another contains tea.one spoon of water is added to second bowl and mixed well, and a spoon of mixture is taken from second bowl and added to the second bowl. Which statement will hold good for the above? 

Pattern 69 
1) Six friends decide to share a big cake. Since all of them like the cake, they begin quarreling who gets to first cut and have a piece of the cake. One friend suggests that they have a blindfold friend choose from well shuffled set of cards numbered one to six. You check and find that this method works as it should simulating a fair throw of a die. You check by performing multiple simultaneous trials of picking the cards blindfold and throwing a die. You note that the number shown by the method of picking up a card and throwing a real world die, sums to a number between 2 and 12. Which total would be likely to appear more often – 8,9 or 10? 
a) 8 
b)All are equally likely 
c)9 
d)10
Solution: calculate how many times 8,9,10 will come when we throw 2 dice,and answer 

Pattern 70 
Q1. Given a collection of points P in the plane, a 1-set is a point in P that can be separated from the rest by a line, .i.e the point lies on one side of the line while the others lie on the other side. The number of 1-sets of P is denoted by n1(P). The minimum value of n1(P) over all configurations P of 5 points in the plane in general position(.i.e no three points in P lie on a line) is 
a)3 
b)5 
c) 2 
d)1 
Ans: 5
For below questions,answers i am not sure whether they are correct or not u have to solve urself

Q2. The citizens of planet nigiet are 8 fingered and have thus developed their decimal system in base 8. A certain street in nigiet contains 1000 (in base 8) buildings numbered 1 to 1000. How many 3s are used in numbering these buildings? 
a) 54 
b) 64 
c) 265 
d) 192 
Ans: 192 - Some times base value is chang like: 9finger, 1 to 100(base 9)

Q3. Given 3 lines in the plane such that the points of intersection form a triangle with sides of length 20, 20 and 30, the number of points equidistant from all the 3 lines is 
a)1 
b)3 
c)4 
d)0 

Q4. Hare in the other. The hare starts after the tortoise has covered 1/5 of its distance and that too leisurely3. A hare and a tortoise have a race along a circle of 100 yards diameter. The tortoise goes in one direction and the. The hare and tortoise meet when the hare has covered only 1/8 of the distance. By what factor should the hare increase its speed so as to tie the race? 
a) 37.80 
b)8 
c) 40 
d) 5 
Ans: 37.80 

Q5. Here 10 programers, type 10 lines with in 10 minutes then 60lines can type within 60 minutes. How many programmers are needed? 
a) 16 
b) 6 
c) 10 
d) 60
Solution: (men*time)/work) 

Ans: 10 This type of Q's repeated 4times for me but values are different. 
Q6. Alok and Bhanu play the following min-max game. Given the expression N = 9 + X + Y - Z Where X, Y and Z are variables representing single digits (0 to 9), Alok would like to maximize N while Bhanu would like to minimize it. Towards this end, Alok chooses a single digit number and Bhanu substitutes this for a variable of her choice (X, Y or Z). Alok then chooses the next value and Bhanu, the variable to substitute the value. Finally Alok proposes the value for the remaining variable. Assuming both play to their optimal strategies, the value of N at the end of the game would be 
a) 0 
b) 27 
c) 18 
d) 20 
The Q's concept is same but the equation of N's is changing. 

Q7. Alice and Bob play the following coins-on-a-stack game. 20 coins are stacked one above the other. One of them is a special (gold) coin and the rest are ordinary coins. The goal is to bring the gold coin to the top by repeatedly moving the topmost coin to another position in the stack.
Alice starts and the players take turns. A turn consists of moving the coin on the top to a position i below the top coin (0 = i = 20). We will call this an i-move (thus a 0-move implies doing nothing). The proviso is that an i-move cannot be repeated; for example once a player makes a 2-move, on subsequent turns neither player can make a 2-move. If the gold coin happens to be on top when it's a player's turn then the player wins the game. Initially, the gold coinis the third coin from the top. Then 
a) In order to win, Alice's first move should be a 1-move. 
b) In order to win, Alice's first move should be a 0-move. 
c) In order to win, Alice's first move can be a 0-move or a 1-move. 
d) Alice has no winning strategy. 
Ans: d 

Q8. For the FIFA world cup, Paul the octopus has been predicting the winner of each match with amazing success. It is rumored that in a match between 2 teams A and B, Paul picks A with the same probability as A's chances of winning. Let's assume such rumors to be true and that in a match between Ghana and Bolivia, Ghana the stronger team has a probability of 2/3 of winning the game. What is the probability that Paul will correctly pick the winner of the Ghana-Bolivia game? 
a)1/9 
b)4/9 
c)5/9 
d)2/3 
Ans: 5/9 

Q9. 36 people {a1, a2, ..., a36} meet and shake hands in a circular fashion. In other words, there are totally 36 handshakes involving the pairs, {a1, a2}, {a2, a3}, ..., {a35, a36}, {a36, a1}. Then size of the smallest set of people such that the rest have shaken hands with at least one person in the set is 
a)12 
b)11 
c)13 
d)18 
Ans: 18 

Q10. After the typist writes 12 letters and addresses 12 envelopes, she inserts the letters randomly into the envelopes (1 letter per envelope). What is the probability that exactly 1 letter is inserted in an improper envelope? 
a)1/12 
b)0 
c)12/212 
d)11/12 
Ans: b 

Q11. A sheet of paper has statements numbered from 1 to 40. For each value of n from 1 to 40, statement n says "At least and of the statements on this sheet are true." Which statements are true and which are false? 
a) The even numbered statements are true and the odd numbered are false. 
b) The first 26 statements are false and the rest are true. 
c) The first 13 statements are true and the rest are false. 
d) The odd numbered statements are true and the even numbered are false. 
Ans: c 

Q12. There are two boxes, one containing 10 red balls and the other containing 10 green balls. You are allowed to move the balls between the boxes so that when you choose a box at random and a ball at random from the chosen box, the probability of getting a red ball is maximized. This maximum probability is 
a)1/2 
b)14/19 
c)37/38 d)3/4 
Ans: 14/19 

Q13. A circular dartboard of radius 1 foot is at a distance of 20 feet from you. You throw a dart at it and it hits the dartboard at some point Q in the circle. What is the probability that Q is closer to the center of the circle than the periphery?
a) 0.75 
b) 1 
c) 0.5 
d) 0.25 
Ans: d 

Q14. 9. A and B play a game of dice between them. The dice consist of colors on their faces (instead of numbers). When the dice are thrown, A wins if both show the same color; otherwise B wins. One die has 4 red face and 2 blue faces. How many red and blue faces should the other die have if the both players have the same chances of winning? 
a) 3 red and 3 blue faces 
b) 2 red and remaining blue 
c) 6 red and 0 blue 
d) 4 red and remaining blue 
Ans: a 

Q15. On planet zorba, a solar blast has melted the ice caps on its equator. 8 years after the ice melts, tiny plantoids called echina start growing on the rocks. echina grows in the form of a circle and the relationship between the diameter of this circle and the age of echina is given by the formula d = 4 * sqrt (t – 8)for t = 8 Where the represents the diameter in mm and t the number of years since the solar blast. Jagan recorded the time of some echina at a particular spot is 24 years then what is diameter? 
a) 8 
b) 16 
c) 25 
d) 21 
Ans: 16 

Q16. A sheet of paper has statements numbered from 1 to 40. For all values of n from 1 to 40, statement n says: 'Exactly n of the statements on this sheet are false.' Which statements are true and which are false?
a) The even numbered statements are true and the odd numbered statements are false. 
b) The odd numbered statements are true and the even numbered statements are false. 
c) All the statements are false. 
d) The 39th statement is true and the rest are false. 
Ans: d

Q17. Alok and Bhanu play the following coins in a circle game. 99 coins are arranged in a circle with each coin touching two other coin. Two of the coins are special and the rest are ordinary. Alok starts and the players take turns removing an ordinary coin of their choice from the circle and bringing the other coins closer until they again form a (smaller) circle. The goal is to bring the special coins adjacent to each other and the first player to do so wins the game. Initially the special coins are separated by two ordinary coins O1 and O2. Which of the following is true? 
a) In order to win, Alok should remove O1 on his first turn. 
b) In order to win, Alok should remove one of the coins different from O1 and O2 on his first turn. 
c) In order to win, Alok should remove O2 on his first turn. 
d) Alok has no winning strategy. 
Ans: d 

Q18. Two pipes A and B fill at A certain rate B is filled at 10,20,40,80,. If 1/4 of B if filled in 21 hours what time it will take to get completely filled 
Ans: 23 Q19. Find average speed if a man travels at speed of 24kmph up and 36kmph down at an altitude of 200m. Formula is 2xy/(x+y). 

Q20. One grandfather has three grandchildren, two of their age difference is 3, eldest child age is 3 times youngest child’s age and eldest child’s age is two times of sum of other two children. What is the age of eldest child? 
Ans: 18 

Q21. Ferrari is leading car manufacturer.*Ferrari S.p.A.* is an Italian sports car. It has enjoyed great success. If Mohan's Ferrari is 3 times faster than his old Mercedes wich gave him 35kmph if Mohan travelled 490 km in his ferrari the how much time(hours) he took? Easy one try it. 

Q22. By using 1,2,3,4,5, how many 12 digit no. can be formed which is divisible by 4, repetation of no. is allowed? 
Ans: (5)^11 

Q23. The cost 1 plum is 1 cent, 2 apples is 1 cent, 3 cashew is 1 cent. If father buys same amount of fruits for his 3 sons spending 7 cent then what amount of fruit each child will get? 
Ans: 1plum, 2apples, 1cashew 

Q24. There are some 2 wheelers and 4 wheelers parked total number of wheels present is 240 then how many 4 wheelers were there 
Ans: For this question answer is deduced from the options. 

Q25. One day Alice meets pal and byte in fairyland. She knows that pal lies on Mondays, Tuesdays and Wednesdays and tells the truth on the other days of the week byte, on the other hand, lies on Thursdays, Fridays and Saturdays, but tells the truth on the other days of the week. Now they make the following statements to Alice – pal. Yesterday was one of those days when I lie byte. Yesterday was one of those days when I lie too. What day is it? 
a) Thursday 
b) Tuesday 
c) Monday
d) Sunday 
Ans: a

Q1) 1/2 of a number is 3 more than 1/6th of the same number. What is the number? 
a) 6 
b) 7 
c) 8 
d) 9 
e) None of these

Q2) There are two pipes A and B. If A fills 10 litres per hour, B’s filling rate doubles after every hour starting with 10 litres in first hour (i.e. 10, 20, 40, 80, 160 litres and so on per hour). If B filled in 1/16 of a tank in 3 hours, how many hours will it take to fill the tank completely? 
a) 9 
b) 18 
c) 27 
d) 46 
e) None of these

Q3. Four men are standing in a market. The average age of all, four years ago was 45 years. Now one man joins them and his age is 49 years. What is the new average age (in years) of all combined together? 
a) 43 
b) 45 
c) 47 
d) 49 
e) None of these

Q4) A person is climbing a rock at an altitude of 800 m. He goes up at 7 mph. and comes down at 9 mph. What is his average speed? 
a) 7.875 mph 
b) 7.125 mph 
c) 7mph 
d) 7.5 mph 
e) None of these

Q5) Smita was making a cube with dimensions 5*5*5 using 1*1*1 cubes. What is the number of cubes needed to make a hollow cube, of the same shape and size? 
a) 98 
b) 104 
c) 100 
d) 61 
e) None of these

Q6) Find the missing term in the following series: 5, 3, 12, 7, 26, 15, ? 
a) 54 
b) 27 
c) 108 
d) 31 
e) None of these

Q7) A car manufacturer produces only red and blue models which come out of the final testing area at random. What are the odds (probability) that five consecutive cars of same colour will come through the test area at any one time? 
a) 1 in 16 
b) 1 in 125 
c) 1 in 32 
d) 1 in 25 
e) None of these

Q8) A triangle is made from a rope. The sides of the triangle are 25 cm, 11 cm and 31 cm. What will be the area of the square made from the same rope? 
a) 280.5625cm² 
b) 240.5625cm² 
c) 280.125cm² 
d) 240cm² 
e) None of these

Q9) Usha bought a linen cloth and a rope to build a tent. If the rope is 153 m long and it is to be cut into pieces of 1m length, then how many cuts are to be made to cut the rope into 153 pieces? 
a) 153 
b) 152 
c) 154 
d) 155 
e) None of these

Q10) A person buys a horse for 15 pounds. After one year, he sells it for 20 pounds. After one year, again he buys the same horse at 30 pounds and sells it for 40 pounds. What is the overall profit percent for that person over both the transactions?
a) 15% 
b) 33.33% 
c) 45% 
d) 60% 
e) None of these

Q11) In a family there are some boys and girls. All boys told that they are having equal number of brothers and sisters and girls told that they are having twice the number of brothers than sisters. How many boys and girls are present in the family? 
a) 4 boys and 3 girls 
b) 3 boys and 4 girls 
c) 2 boys and 5 girls 
d) 5 boys and 2 girls 
e) None of these

Q 12) If 10 boys meet at a reunion and each boy shakes hands exactly once with each of the others, then what is the total number of handshakes? 
a) 10! 
b) 10*10 
c) 10*9 
d) 45 
e) None of these 

Q13) My name is PREET. But my son accidentally types the name by interchanging a pair of letters in my name. What is the probability that despite this interchange, the name remains unchanged? 
a) 5 % 
b) 10% 
c) 20% 
d) 25% 
e) 12.5%

Q14) If there are only 2 wheelers and 4 wheelers parked in a school located at the heart of the city, find the number of 4 wheelers parked there if the total number of wheels is 58? 
a) 10 
b) 33 
c) 22 
d) 44 
e) None of these 

Q15) The ages of two friends is in the ratio of 6:5.If the sum of their ages is 66. Then after how many years will the ratio become 7:6? 
a) 11 
b) 6 
c) 10 
d) 12 
e) None of these 

Q16) A volume of 10936 liters water is in a container of the shape of a sphere. How many semi spheres of volume 4 liters each will be required to transfer all the water into the small semi spheres? 
a) 2812 
b) 8231 
c) 2734 
d) 4222 
e) None of these

Q17) A person is building a house. He bought 20 ropes of wire that has a density of 300 Kg/m3.The height of the building to be constructed is 40 m. If the capacity of the current passed in the wire is 20 A and the voltage capacity is 80 Volts. Then what will be the opposing force to the current of the wire used? 
a) 2 Ω 
b) 4 Ω 
c) 8 Ω 
d) 1600 Ω 
e) None of these 

Q18) A man walks 50km towards north, then he turns left and walks 40km, then he turned right. In which direction is he facing now?
a) North 
b) South 
c) East 
d) West 
e) None of these

Q19) In T.Nagar the buildings are numbered from 1 to 100. How many 6’s will be present in the numbers? 
a) 18 
b) 19 
c) 20 
d) 21 
e) None of these 

Q20) If the Valentine’s Day in 2005 falls on Monday, then on which day will the Valentine’s Day fall in 2010? 
a) Saturday 
b) Thursday 
c) Wednesday 
d) Sunday 

e) None of these

Q21) A man has 3 grand children. The age difference between any two children is 3 years. The eldest child’s age is 3 times the youngest child’s age and the eldest child’s age is two times the sum of the ages of the other two children. Find what is the age of the eldest child? 
a) 18 
b) 22 
c) 30 
d) Cannot be determined 
e) None of these

Q22) Find the value of sin 75° + sin 15° = ?
cos 75° + cos 15° 
a) 1 
b) 2 
c) √3/2 
d) Cannot be determined 
e) None of these

Q23) In a circular racetrack of length 100 m, three persons A, B and C start together. A and B start in the same direction at speeds of 10 m/s and 8 m/s respectively. While C runs in the opposite direction at 15 m/s. When will all the three meet for the first time on the track after the start? 
a) After 4 s 
b) After 50 s 
c) After 100 s 
d) After 200 s 
e) None of these

Q24) On planet Zorba, a solar blast has melted the ice caps on its equator. Eight years after the ice melts, tiny planetoids called Echina start growing on the rocks. Echina grows in the form of a circle and the relationship between the diameter of this circle and the age of Echina is given by the formula d = 4 * √ (t – 8) for t ≥ 8, where d represents the diameter in mm and t the number of years since the solar blast. Jagan recorded the age of some Echina at a particular spot as 24 years. What is diameter of the Echina circle? 
a) 8 
b) 16 
c) 25 
d) 21 
e)None of the 

Q25) A man whose age is 45 yrs has 3 sons named John, Jill and Jack. He visits a park twice in a week. He loves his sons very much. On a certain day, he found the shopkeepers selling different things. An apple costs 1 penny, 2 chocolates cost 1 penny & 3 bananas cost 1 penny. He has bought equal number of apples, chocolates & bananas for each son. If the total amount he invests is 7 penny, then how many fruits has he bought for each son? 
a)1 apple, 1 chocolate, 1 banana 
b)1 apple, 2 chocolates, 3 bananas 
c)1 apple, 2 chocolates,1banana 
d) None of these

Q26) The vertices of Δ ABC are point A (7,9), B(3,-7), C(3,-3). Which of the following is true?
a) ABC is a right-angled triangle 
b) ABC is an equilateral triangle
c) ABC is an isosceles triangle
d) Both (a) & (c)
e) None of these

Q27) From the top of a 9 metres high building AB, the angle of elevation of the top of a tower CD is 30° and the angle of depression of the foot of the tower is 60°. Find the height of the tower?
a) 9m 
b) 18m 
c) 20m 
d) 27m 
e) None of these

Q28) If x+y=25 and x2y3 + y2x3=25, what is the value of xy?
a) 0 
b) +1 
c) 5 
d) 4 
e) None of these

Q29) A person is entitled to receive an annual payment which for each year is less by 1/10th of what it was for the year before. If the first payment is Rs. 100, then find the maximum possible payment which he can receive however long he may live?
a) Rs.900 
b) Rs.9999 
c) Rs.1000 
d) Rs.9000 
e) None of these

Q30) In the reading room of a library, there are 10 reading spots. Each reading spot consists of a round table with 4 chairs placed around it. There are some readers such that in each table there are different numbers of people seated. If in all there are 10 readers, then how many reading spots do not have even a single reader? 
a) 8 
b) 6 
c) 2 
d) 7 
e) None of these

Q31) A girl has to make pizzas with different toppings. There are eight different toppings. In how many ways can she make pizzas with two different toppings? 
a) 16 
b) 56 
c) 112 
d) 28 
e) None of these

Q32) Read the following statements and answer the questions that follow?
a) Seeta, Rajinder and Surinder are children of Mr. and Mrs. Maudgil
b) Renu,Raja and Sunil are children of Mr. and Mrs. Bhaskar
c) Sunil and Seeta are married and Ashok and Sanjay are their children
d) Geeta and Rakesh are children of Mr. and Mrs. Jain
e) Geeta is married to Surinder and has three children named Rita, Sonu
and Raju.

How is Rajinder related to Raju?
a) brother 
b) uncle 
c) brother in law 
d) cousin 
e) maternal uncle 

Q33) There are 1000 pillars in a temple. Three friends Linda, Chelsea and Julia visited that temple. Linda is taller than Chelsea, who is taller than 2 of 1000 pillars. Julia is shorter than Linda. Find the correct sentence?
a) Linda is shorter among them
b) Chelsea is taller than Julia
c) Chelsea is shorter than Julia
d) Cannot determine who is taller between Chelsea and Julia 
e) None of these

Q34) Fred is a researcher at the Sun Computer Centre. He is also a jazz musician. He wrote a program that recognized his pattern of musical play and predicted his notes. Notes were first converted to numbers through complex statistical techniques. The first few numbers are 26,25,23,20 and 16. What should come next?
a) 13 
b) 12 
c) 11 
d) 10 
e) None of these

Q35) For a journey the cost of a child ticket is 1/3rd of the cost of an adult ticket. If the cost of the ticket for 4 adults and 5 children is Rs. 85, what is the cost of a child ticket?
a) Rs.5 
b) Rs.6 
c) Rs. 10 
d) Rs.15 
e) None of these 

Directions for Q36 to Q40: Read the following passage carefully and answer the questions that follow:

Mr. Harding was not a happy man as he walked down the palace pathway, and stepped out into the close. His position and pleasant house were a second time gone from him; but that he could endure. He had been schooled and insulted by a man young enough to be his son; but that he could put up with. He could even draw from the very injuries which had been inflicted on him some of that consolation which, we may believe, martyrs always receive from the injustice of their own sufferings. He had admitted to his daughter that he wanted the comfort of his old home, and yet he could have returned to his lodgings in the High Street, if not with exultation, at least with satisfaction, had that been all. But the venom of the chaplain's harangue had worked into his blood, and sapped the life of his sweet contentment.
'New men are carrying out new measures, and are carting away the useless rubbish of past centuries!'

What cruel words these had been- and how often are they now used with all the heartless cruelty of a Slope! A man is sufficiently condemned if it can only be shown that either in politics or religion he does not belong to some new school established within the last score of years. He may then regard himself as rubbish and expect to be carted away. A man is nothing now unless he has within him a full appreciation of the new era; an era in which it would seem that neither honesty nor truth is very desirable, but in which success is the only touchstone of merit. We must laugh at everything that is established. Let the joke be ever so bad, ever so untrue to the real principles of joking; nevertheless, we must laugh - or else beware the cart. We must talk, think, and live up to the spirit of the times, or else we are nought. New men and new measures, long credit and few scruples, great success or wonderful ruin, such are now the tastes of Englishmen who know how to live! Alas, alas! Under such circumstances, Mr. Harding could not but feel that he was an Englishman who did not know how to live. This new doctrine of Mr. Slope and the rubbish cart sadly disturbed his equanimity. 'The same thing is going on throughout the whole country!' 'Work is now required from every man who receives wages!' And had he been living all his life receiving wages, and doing no work? Had he in truth so lived as to be now in his old age justly reckoned as rubbish fit only to be hidden away in some huge dust-hole? The school of men to whom he professes to belong, the Grantlys, the Gwynnes, are afflicted with no such self-accusations as these which troubled Mr. Harding. They, as a rule, are as satisfied with the wisdom and propriety of their own conduct as can be any Mr. Slope, or any Bishop with his own. But, unfortunately for himself, Mr. Harding had little of this self-reliance. When he heard himself designated as rubbish by the Slopes of the world, he had no other resource than to make inquiry within his own bosom as to the truth of the designation. Alas, alas! The evidence seemed generally to go against him.

Q36) The main cause of Mr. Harding’s unhappiness as he leaves the Bishop’s Palace is

a) the loss of his house 
b) the loss of his position 
c) the need to live with his daughter 
d) the thought-provoking words of the chaplain 
e) the injustice he has suffered

Q37) Mr. Hardings is talking of an era where what matters is only
a) either truth or honesty
b) belonglin to the new school in Politics or religion
c) Success as a Touchstone
d) not to make fun of the established
e) all of the above.

Q38) The word ‘equanimity’ (line 20) most nearly means
a) status 
b) happiness 
c)justice 
d)complacency 
e) composure

Q39) It can be inferred that Mr Harding is especially disturbed because he
a) does not feel himself to be old 
b) is offended by the young man’s impertinence 
c) believes no one else feels as he does 
d) believe his life’s work has been worthwhile 
e) feels there may be some truth in regarding himself as ‘rubbish’

Q40) Mr. Harding differs from others of his ‘school’ (line 23) because they
a) do not believe Slope 
b) have never been called ‘rubbish’ 
c) are sure their conduct is irreproachable 
d) have already examined their consciences 
e) feel that Mr. Harding is not one of them

 

1. Alok and Bhanu play the following min-max game. Given the expression N = 19 + X * (Y - Z), where X, Y and Z are variables representing single digits (0 to 9), Alok would like to maximize N while Bhanu would like to minimize it. Towards this end, Alok chooses a single digit number and Bhanu substitutes this for a variable of her choice (X, Y or Z). Alok then chooses the next value and Bhanu, the variable to substitute the value. Finally Alok proposes the value for the remaining variable. Assuming both play to their optimal strategies, the value of N at the end of the game would be
O 100
O 019
O -62
O 37

2. The number of bacteria in a colony was growing exponentially. At 4 pm yesterday the number of bacteria was 400 and at 6 pm yesterday it was 3600. How many bacteria were there in the colony at 7 pm yesterday?
O 3600
O 10800
O 32400
O 14400

3. A multiple choice question has 4 options. Choosing the correct option earns the student 3 marks. However choosing the wrong option incurs negative marks so that if a student chooses an option randomly, his expected score is 0. Suppose a student has successfully eliminated 2 incorrect options. His expected score if he chooses randomly among the remaining options is.
O 1.00
O 1.50
O 00
O 3

4. On the planet Oz, there are 8 days in a week - Sunday to Saturday and another day called Oz day. There are 36 hours in a day and each hour has 90 minutes while each minute has 60 seconds. As on earth, the hour hand covers the dial twice every day. Find the approximate angle between the hands of a clock on Oz when the time is 12:40 am.
O 111 degrees 
O 251 degrees
O 71 degrees 
O 89 degrees

5. You're going to get grounded for a week if you don't get at least 80% in your science class. So far you have 237 of the total 300 points. The final test is worth 100 points. What is the minimum score you need to get on the final test? Assume the teacher rounds properly.
O 93
O 80
O 83
O 100

6. Middle-earth is a fictional land inhabited by Hobbits, Elves, dwarves and men. The Hobbits and the Elves are peaceful creatures who prefer slow, silent lives and appreciate nature and art. The dwarves and the men engage in physical games. The game is as follows. A tournoi is one, where out of the two teams that play a match, the one that loses get eliminated. The matches are played in different rounds where in every round; half of the teams get eliminated from the tournament. If there are 8 rounds played in a knock-out tournoi how many matches were played?
O 257
O 72
O 255
O 256

 7. Alice and Bob play the following coins-on-a-stack game. 100 coins are stacked one above the other. One of them is a special (gold) coin and the rest are ordinary coins. The goal is to bring the gold coin to the top by repeatedly moving the topmost coin to another position in the stack. Alice starts and the players take turns. A turn consists of moving the coin on the top to a position i below the top coin (for some i between 0 and 100). We will call this an i-move (thus a 0-move implies doing nothing). The proviso is that an i-move cannot be repeated; for example once a player makes a 2-move, on subsequent turns neither player can make a 2- move. If the gold coin happens to be on top when it's a player's turn then the player wins the game. Initially, the gold coin is the third coin from the top. Then
O In order to win, Alice's first move can be a 0-move or a 1-move.
O In order to win, Alice's first move should be a 1-move.
O In order to win, Alice's first move should be a 0-move.
O Alice has no winning strategy.

8. The IT giant Tirnop has recently crossed a head count of 150000 and earnings of S7 billion. As one of the forerunners in the technology front, Tirnop continues to lead the way in products and services in India. At Tirnop: all programmers are equal in every respect. They receive identical salaries ans also write code at the some rate. Suppose 20 such programmers take 20 minutes to write 20 lines of code in total. How long will it take 5 programmers to write 5 lines of code in total?
O 25
O 20
O 100
O 5

9. Achilles was the son of the nymph Thetis and Peleus, the king of the Myrmidons. Zeus and Poseidon had been rivals for the hand of Thetis until Prometheus, the fire-bringer, warned Zeus of a prophecy that Thetis would bear a son greater than his father. For this reason, the two gods withdrew their pursuit, and had her wed Peleus. The following statement is another interesting prophecy about the ages of two childen of Zeus that would hold true at some time during the lifetime of the children. 4 years ago, Athena's age was twice Helen's age. 4 years hence, Athena's age will be 4/3 times the age of Helen. Find Athena's present age in binary numbers during the time that the statement holds true.
O 100
O 1001
O 101
O 1100

10. 36 people (a1, a2, ……, a36) meet and shake hands in a circular fashion. In other words, there are totally 36 handshakes involving the pairs, (a1, a2), (a2, a3),………., (a35, a36), (a36, a1). Then the size of the smallest set of people such that the rest have shaken hands with at least one person in the set is
O 11
O 18
O 12
O 13

11. Let exp(m,n) = m to the power n. If exp(10, m) = n exp(2, 2) where to and n are integers then n = ………………?
O 25 
O 10
O 2 
O 5

12. There are two boxes, one containing 32 red balls and the other containing 31 green balls. You are allowed to move the balls between the boxes so that when you choose a box at random and a ball at random from the chosen box, the probability of getting a red ball is maximized. This maximum probability is
O .25
O .51
O .75
O .50

13. A man has some socks in his drawer - 18 identical blue, 24 identical red, and 22 identical black. The lights are out and it is totally dark. How many socks must he take out to make sure he has a pair of each colour?
O 32
O 48
O 42
O 34

14. A cyclist buys a cycle for 29 pounds paying with a 50 pound cheque. The seller changes the cheque next door and gives the cyclist change. The cheque bounces so the seller paid his neighbour back. The cycle cost the seller 12 pounds. How much did the seller lose?
O 33 pounds
O 12 pounds
O 50 pounds
O 41 pounds

15. The original price of a car was $23600. Because the car owner thought he could get more money for the car, he increased the price of the car to 160% of its original price. After a week, the car had not sold, so the owner then discounted the price by 20%, the car was finally sold. What price was the car sold for?
O 30208 $
O 37760 $
O 23600 $
O 7552 $

16. The chairman of Tata Motors, Ratan Tata, had 300 engineers work for 5 years designing the world's lowest-cost car, convinced that cost-conscious Indian drivers could live without air-conditioning and cup holders. However, after the booking started they found that only 23 percent of initial 253850 orders for the car - the Nano - were for the no frills $2600 model. How much time (in days) would it have taken if there were 500 employees working for double the time?
O 547.50
O 3041.67
O 1095.00
O 450.00

17. Earl can stuff advertising circulars into envelops at the rate of 36 envelopes per minute and Ellen requires a minute and a half to stuff the same number of envelopes. Working together, how long will it take Earl and Ellen to stuff 360 envelopes?
O 6 minutes
O 5 minutes
O 7 minutes
O 3 minutes

18. In 1911, a French physicist Paul Langevin, devised a thought experiment based on Einstien's Special Relativity. In the experiment, a person makes a journey into space at nearly the speed of light and comes back to earth. He finds that he has aged five times less than his twin who stayed back on earth for 40 years. This is popularly known as the Twin Paradox. Now, consider the case of Hansel and Gretel, who are not twins. 9 years ago, Hansel was twice as old as Gretel. If they journey into space, an atomic clock assists in logging the start time of their journey accurately. If they do not journey into space, 9 years hence, Hansel's age will be 413 times the age of Greters. Find Hansel's age today in binary numbers.

O 11000
O 11011
O 1010
O 1001

19. Recent reports have suggested that sportsmen with decreased metabolic rates perform better in certain sports. After reading one such report, Jordan, a sportsperson from Arlington decides to undergo a rigorous physical training program for 3 months, where he performs Yoga for 3 hours, walks for 2 hours and swims for 1 hour each day. He says: I began my training on a Wednesday in a prime number month of 2008. I lost 1% of my original weight within the first 30 days. In the next two months combined, I lost 1 Kg. If he walks at 6 mph over a certain journey and walks back over the same route at 8 mph at an altitude of 200 meters, what is his average speed for the journey?
O 48.00
O 6.86
O 3.43
O 7.00

20. Given a collection of points P in the plane, a 1-set is a point in P that can be separated from the rest by a line; i.e. the point lies on one side of the line while the others lie on the other side. The number of 1-sets of P is denoted by n1(P). The maximum value of n1(P) over all configurations P of 11 points in the plane is
O 11
O 5
O 12
O 10

21. Given 3 lines in the plane such that the points of intersection form a triangle with sides of length 20, 20 and 31, the number of points equidistant from all the 3 lines is
O 3
O 4
O 0
O 1

22. For the FIFA world cup, Paul the octopus has been predicting the winner of each match with amazing success. It is rumored that in a match between 2 teams A and B, Paul picks A with the same probability as A's chances of winning. Let's assume such rumors to be true and that in a match between Ghana and Bolivia, Ghana the stronger team has a probability of 11/12 of winning the game. What is the probability that Paul will correctly pick the winner of the Ghana-Bolivia game?
O .01 
O .85
O .15 
O .92

23. A result of global warming is that the ice of some glaciers is melting. 12 years after the ice disappears, tiny plants, called lichens, start to grow on the rocks. Each lichen grows approximately in the shape of a circle. The relationship between the diameter of this circle and the age of the lichen can be approximated with the formula: d =5* (t -12) for t >12, where d represents the diameter of the lichen in millimeters, and t represents the number of years after the ice has disappeared. Using the above formula, calculate the diameter of the lichen, 49 years after the ice has disappeared.
O 185
O 12
O 245
O 233

24. Alok is attending a workshop 'How to do more with less and today's theme is Working with fewer digits. The speakers discuss how a lot of miraculous mathematics can be achieved if mankind (as well as womankind) had only worked with fewer digits. The problem posed at the end of the workshop is 'How many 5 digit numbers can be formed using the digits 1, 2, 3, 4, 5 (but with repetition) that are divisible by 4?' Can you help Alok find the answer?
O 625
O 250
O 781
O 782

25. Elephant competitions are of great entertainment value in south India. In one such competition held in Cochin, 200 elephants participated. Each elephants was given equal amount of milk to drink for a certain time period. Whichever elephant could drink the maximum would be the winner. One of the elephants named Garru could drink 1/3 of the amount of milk offered. Another elephant named Marta could drink only 1/20 of the amount of milk offered, but it was better than Thorny which could drink 2/45 of the amount of milk offered. Amazingly Darru could drink 6 litres more than 1/4 of the amount of milk offered, where as Malar could drink 2/15 of the amount of milk offered. If the amount of milk left over by the elephants Garru and Darru were same, then calculate the total amount of milk offered to each elephant.
O 73.00 litres
O 71.00 litres
O 12.00 litres
O 72.00 litres

26. Planet Fourfe resides in 4-dimensional space and thus the currency used by its residents are 3-dimensional objects. The rupee notes are cubical in shape while their coins are spherical. However the coin minting machinery lays out some stipulations on the size of the coins. A. The diameter of the coins should be at least 4mm and not exceed 8mm.B. Given a coin, the diameter of the next larger coin is at least 50% greater.C.The diameter of the coin must always be an integer. You are asked to design a set of coins of different diameters with these requirements and your goal is to design as many coins as possible. How many coins can you design?
O 3
O 0
O 1
O 2

27. The citizens of planet Oz are 4 fingered and thus have developed a number system in base 4. A certain street in Oz contains 100 buildings numbered from 1 to 100. How many 1's are used in numbering these buildings? Express your answer in base 10.
O 5
O 8
O 4
O 12

28. The IT giant Tirnop has recently crossed a head count of 150000 and earnings of $7 billion. As one of the forerunners in the technology front, Tirnop continues to lead the way in products and services in India. At Tirnop, all programmers are equal in every respect. They receive identical salaries ans also write code at the same rate. Suppose 13 such programmers take 13 minutes to write 13 lines of code in total. How many programmers would it take to write 91 lines of code in 91 minutes?
O 13
O 7
O 91
O 20

29. A sheet of paper has statements numbered from 1 to 16. For all values of n from 1 to 16, statement n says 'At least n of the statements on this sheet are false.' Which statements are true and which are false?
O The even numbered statements are true and the odd numbered are false.
O The odd numbered statements are true and the even numbered are false.
O The first half of the statements are true and the last half statements are false.
O The first half of the statements are false and the last half statements are true.

30. For the King's revelry 254 barrels of beer have been ordered. However, it was found that one of them is poisoned. The poison takes effect even if consumed in the tiniest amount after 14 hours. You need to find, within 24 hours, the poisoned barrel and have at your disposal some beer guzzling mice. The smallest number of mice required to find the poisoned barrel is
O 9
O 8
O 254
O 7

31. Dollar stores, the stores which sell all of their merchandise for $1, have long had a reputation for being down-at-the-heels places to buy cheap, generic goods. While keeping their low prices, they are revamping their image and climbing the respectability ladder, in some cases to the Fortune 500. One such dollar store which recently made an entry in the Fortune list which has 3800 stores all over the United States, said that they had a 4 percent increase in the number of transactions in 2008 compared with the previous year to 32 million. The company made a profit of $22 million this year. What is the average profit per store?
O 5.79 thousand $
O .58 thousand $
O 17.37 thousand $
O 8.42 thousand $

32. Mr. Bean visited a magic shop and bought some magical marbles of different colours along with other magical items.While returning home whenever he saw a coloured light, he took out marbles of similar colours and counted them. So he counted the pink coloured marbles and found that he has bought 25 of them. Then he counted 18 green marbles and then 46 yellow marbles. He later counted 30 purple coloured marbles with him. But when he reached a crossing , he looked at a red light and started counting red marbles and found that he had bought 45 Red marbles . As soon as he finished counting, it started raining heavily and by the time he reached home he was drenched. After reaching home he found that the red, green and yellow marbles had magically changed colours and became white, while other marbles were unchanged. It will take 1 day to regain its colours, but he needs to give atleast one pair of marbles to his wife now. So how many white marbles must he choose and give to his wife so as to ensure that there is atleast one pair of red , yellow and green marbles?
O 54
O 95
O 93
O 64

33. A police car starts chasing a fugitive in a BMW 3 hours after the BMW escapes from the scene of crime at 10 AM. The BMW drives for 10 Km through the crowded roads of Shanghai and then drives into a highway, where the traffic allows vehicles to move twice as fast. After a while, the police car finally catches up with the BMW after a chase that lasted 4 hours. By this time the moon was up in the sky for 4 hours. If the average speed of the police car is 83 kmph, then the average speed of the BMW is …………….. kmph.
O 35.57 
O 47.43
O 48.43 
O 11.86

 34. 19 people (a1, a2, ….. , a19) are invited to a party. The host and the hostess shake hands with each invitee and also with each other. The invitees shake hands in a circular fashion, i.e. the pairs (a1, a2), (a2, a3), ……..,(a18, a19), (a19, a1) shake hands. So, in all there are 58 handshakes. Let S be a set of people such that every pair in S shake hands. The size of S is at most
O 2
O 3
O 1
O 4

35. A hollow cube of size 5 cm is taken, with a thickness of 1 cm. It is made of smaller cubes of size 1 cm. If 4 faces of the outer surface of the cube are painted, totally how many faces of the smaller cubes remain unpainted?
O 500
O 488
O 900
O 800
TCS aptitude and analytical questions
 

 

 

Q1) 1/2 of a number is 3 more than 1/6th of the same number. What is the number?

a) 6 
b) 7 
c) 8 
d) 9 
e) None of these

Q2) There are two pipes A and B. If A fills 10 litres per hour, B’s filling rate doubles after every hour starting with 10 litres in first hour (i.e. 10, 20, 40, 80, 160 litres and so on per hour). If B filled in 1/16 of a tank in 3 hours, how many hours will it take to fill the tank completely? 
a) 9 
b) 18 
c) 27 
d) 46 
e) None of these

Q3. Four men are standing in a market. The average age of all, four years ago was 45 years. Now one man joins them and his age is 49 years. What is the new average age (in years) of all combined together? 
a) 43 
b) 45 
c) 47 
d) 49 
e) None of these

Q4) A person is climbing a rock at an altitude of 800 m. He goes up at 7 mph. and comes down at 9 mph. What is his average speed? 
a) 7.875 mph 
b) 7.125 mph 
c) 7mph 
d) 7.5 mph 
e) None of these

Q5) Smita was making a cube with dimensions 5*5*5 using 1*1*1 cubes. What is the number of cubes needed to make a hollow cube, of the same shape and size? 
a) 98 
b) 104 
c) 100 
d) 61 
e) None of these

Q6) Find the missing term in the following series: 5, 3, 12, 7, 26, 15, ? 
a) 54 
b) 27 
c) 108 
d) 31 
e) None of these

Q7) A car manufacturer produces only red and blue models which come out of the final testing area at random. What are the odds (probability) that five consecutive cars of same colour will come through the test area at any one time? 
a) 1 in 16 
b) 1 in 125 
c) 1 in 32 
d) 1 in 25 
e) None of these

Q8) A triangle is made from a rope. The sides of the triangle are 25 cm, 11 cm and 31 cm. What will be the area of the square made from the same rope? 
a) 280.5625cm² 
b) 240.5625cm² 
c) 280.125cm² 
d) 240cm² 
e) None of these

Q9) Usha bought a linen cloth and a rope to build a tent. If the rope is 153 m long and it is to be cut into pieces of 1m length, then how many cuts are to be made to cut the rope into 153 pieces? 
a) 153 
b) 152 
c) 154 
d) 155 
e) None of these

Q10) A person buys a horse for 15 pounds. After one year, he sells it for 20 pounds. After one year, again he buys the same horse at 30 pounds and sells it for 40 pounds. What is the overall profit percent for that person over both the transactions?
a) 15% 
b) 33.33% 
c) 45% 
d) 60% 
e) None of these

Q11) In a family there are some boys and girls. All boys told that they are having equal number of brothers and sisters and girls told that they are having twice the number of brothers than sisters. How many boys and girls are present in the family? 
a) 4 boys and 3 girls 
b) 3 boys and 4 girls 
c) 2 boys and 5 girls 
d) 5 boys and 2 girls 
e) None of these

Q 12) If 10 boys meet at a reunion and each boy shakes hands exactly once with each of the others, then what is the total number of handshakes? 
a) 10! 
b) 10*10 
c) 10*9 
d) 45 
e) None of these 

Q13) My name is PREET. But my son accidentally types the name by interchanging a pair of letters in my name. What is the probability that despite this interchange, the name remains unchanged? 
a) 5 % 
b) 10% 
c) 20% 
d) 25% 
e) 12.5%

Q14) If there are only 2 wheelers and 4 wheelers parked in a school located at the heart of the city, find the number of 4 wheelers parked there if the total number of wheels is 58? 
a) 10 
b) 33 
c) 22 
d) 44 
e) None of these 

Q15) The ages of two friends is in the ratio of 6:5.If the sum of their ages is 66. Then after how many years will the ratio become 7:6? 
a) 11 
b) 6 
c) 10 
d) 12 
e) None of these 

Q16) A volume of 10936 liters water is in a container of the shape of a sphere. How many semi spheres of volume 4 liters each will be required to transfer all the water into the small semi spheres? 
a) 2812 
b) 8231 
c) 2734 
d) 4222 
e) None of these

Q17) A person is building a house. He bought 20 ropes of wire that has a density of 300 Kg/m3.The height of the building to be constructed is 40 m. If the capacity of the current passed in the wire is 20 A and the voltage capacity is 80 Volts. Then what will be the opposing force to the current of the wire used? 
a) 2 Ω 
b) 4 Ω 
c) 8 Ω 
d) 1600 Ω 
e) None of these 

Q18) A man walks 50km towards north, then he turns left and walks 40km, then he turned right. In which direction is he facing now?
a) North 
b) South 
c) East 
d) West 
e) None of these

Q19) In T.Nagar the buildings are numbered from 1 to 100. How many 6’s will be present in the numbers? 
a) 18 
b) 19 
c) 20 
d) 21 
e) None of these 

Q20) If the Valentine’s Day in 2005 falls on Monday, then on which day will the Valentine’s Day fall in 2010? 
a) Saturday 
b) Thursday 
c) Wednesday 
d) Sunday 

e) None of these

Q21) A man has 3 grand children. The age difference between any two children is 3 years. The eldest child’s age is 3 times the youngest child’s age and the eldest child’s age is two times the sum of the ages of the other two children. Find what is the age of the eldest child? 
a) 18 
b) 22 
c) 30 
d) Cannot be determined 
e) None of these

Q22) Find the value of sin 75° + sin 15°               = ?
                                        cos 75° + cos 15° 
a) 1 
b) 2 
c) √3/2 
d) Cannot be determined 
e) None of these

Q23) In a circular racetrack of length 100 m, three persons A, B and C start together. A and B start in the same direction at speeds of 10 m/s and 8 m/s respectively. While C runs in the opposite direction at 15 m/s. When will all the three meet for the first time on the track after the start? 
a) After 4 s 
b) After 50 s 
c) After 100 s 
d) After 200 s 
e) None of these

Q24) On planet Zorba, a solar blast has melted the ice caps on its equator. Eight years after the ice melts, tiny planetoids called Echina start growing on the rocks. Echina grows in the form of a circle and the relationship between the diameter of this circle and the age of Echina is given by the formula d = 4 * √ (t – 8) for t ≥ 8, where d represents the diameter in mm and t the number of years since the solar blast. Jagan recorded the age of some Echina at a particular spot as 24 years. What is diameter of the Echina circle? 
a) 8 
b) 16 
c) 25 
d) 21 
e)None of the 

Q25) A man whose age is 45 yrs has 3 sons named John, Jill and Jack. He visits a park twice in a week. He loves his sons very much. On a certain day, he found the shopkeepers selling different things. An apple costs 1 penny, 2 chocolates cost 1 penny & 3 bananas cost 1 penny. He has bought equal number of apples, chocolates & bananas for each son. If the total amount he invests is 7 penny, then how many fruits has he bought for each son? 
a)1 apple, 1 chocolate, 1 banana 
b)1 apple, 2 chocolates, 3 bananas 
c)1 apple, 2 chocolates,1banana 
d) None of these

Q26) The vertices of Δ ABC are point A (7,9), B(3,-7), C(3,-3). Which of the following is true?
a) ABC is a right-angled triangle 
b) ABC is an equilateral triangle
c) ABC is an isosceles triangle
d) Both (a) & (c)
e) None of these

Q27) From the top of a 9 metres high building AB, the angle of elevation of the top of a tower CD is 30° and the angle of depression of the foot of the tower is 60°. Find the height of the tower?
a) 9m 
b) 18m 
c) 20m 
d) 27m 
e) None of these

Q28) If x+y=25 and x2y3 + y2x3=25, what is the value of xy?
a) 0 
b) +1 
c) 5 
d) 4 
e) None of these

Q29) A person is entitled to receive an annual payment which for each year is less by 1/10th of what it was for the year before. If the first payment is Rs. 100, then find the maximum possible payment which he can receive however long he may live?
a) Rs.900 
b) Rs.9999 
c) Rs.1000 
d) Rs.9000 
e) None of these

Q30) In the reading room of a library, there are 10 reading spots. Each reading spot consists of a round table with 4 chairs placed around it. There are some readers such that in each table there are different numbers of people seated. If in all there are 10 readers, then how many reading spots do not have even a single reader? 
a) 8 
b) 6 
c) 2 
d) 7 
e) None of these

Q31) A girl has to make pizzas with different toppings. There are eight different toppings. In how many ways can she make pizzas with two different toppings? 
a) 16 
b) 56 
c) 112 
d) 28 
e) None of these

Q32) Read the following statements and answer the questions that follow?
a) Seeta, Rajinder and Surinder are children of Mr. and Mrs. Maudgil
b) Renu,Raja and Sunil are children of Mr. and Mrs. Bhaskar
c) Sunil and Seeta are married and Ashok and Sanjay are their children
d) Geeta and Rakesh are children of Mr. and Mrs. Jain
e) Geeta is married to Surinder and has three children named Rita, Sonu
and Raju.

How is Rajinder related to Raju?
a) brother 
b) uncle 
c) brother in law 
d) cousin 
e) maternal uncle 

Q33) There are 1000 pillars in a temple. Three friends Linda, Chelsea and Julia visited that temple. Linda is taller than Chelsea, who is taller than 2 of 1000 pillars. Julia is shorter than Linda. Find the correct sentence?
a) Linda is shorter among them
b) Chelsea is taller than Julia
c) Chelsea is shorter than Julia
d) Cannot determine who is taller between Chelsea and Julia 
e) None of these

Q34) Fred is a researcher at the Sun Computer Centre. He is also a jazz musician. He wrote a program that recognized his pattern of musical play and predicted his notes. Notes were first converted to numbers through complex statistical techniques. The first few numbers are 26,25,23,20 and 16. What should come next?
a) 13 
b) 12 
c) 11 
d) 10 
e) None of these

Q35) For a journey the cost of a child ticket is 1/3rd of the cost of an adult ticket. If the cost of the ticket for 4 adults and 5 children is Rs. 85, what is the cost of a child ticket?
a) Rs.5 
b) Rs.6 
c) Rs. 10 
d) Rs.15 
e) None of these 

Directions for Q36 to Q40: Read the following passage carefully and answer the questions that follow:

Mr. Harding was not a happy man as he walked down the palace pathway, and stepped out into the close. His position and pleasant house were a second time gone from him; but that he could endure. He had been schooled and insulted by a man young enough to be his son; but that he could put up with. He could even draw from the very injuries which had been inflicted on him some of that consolation which, we may believe, martyrs always receive from the injustice of their own sufferings. He had admitted to his daughter that he wanted the comfort of his old home, and yet he could have returned to his lodgings in the High Street, if not with exultation, at least with satisfaction, had that been all. But the venom of the chaplain's harangue had worked into his blood, and sapped the life of his sweet contentment.
'New men are carrying out new measures, and are carting away the useless rubbish of past centuries!'

What cruel words these had been- and how often are they now used with all the heartless cruelty of a Slope! A man is sufficiently condemned if it can only be shown that either in politics or religion he does not belong to some new school established within the last score of years. He may then regard himself as rubbish and expect to be carted away. A man is nothing now unless he has within him a full appreciation of the new era; an era in which it would seem that neither honesty nor truth is very desirable, but in which success is the only touchstone of merit. We must laugh at everything that is established. Let the joke be ever so bad, ever so untrue to the real principles of joking; nevertheless, we must laugh - or else beware the cart. We must talk, think, and live up to the spirit of the times, or else we are nought. New men and new measures, long credit and few scruples, great success or wonderful ruin, such are now the tastes of Englishmen who know how to live! Alas, alas! Under such circumstances, Mr. Harding could not but feel that he was an Englishman who did not know how to live. This new doctrine of Mr. Slope and the rubbish cart sadly disturbed his equanimity. 'The same thing is going on throughout the whole country!' 'Work is now required from every man who receives wages!' And had he been living all his life receiving wages, and doing no work? Had he in truth so lived as to be now in his old age justly reckoned as rubbish fit only to be hidden away in some huge dust-hole? The school of men to whom he professes to belong, the Grantlys, the Gwynnes, are afflicted with no such self-accusations as these which troubled Mr. Harding. They, as a rule, are as satisfied with the wisdom and propriety of their own conduct as can be any Mr. Slope, or any Bishop with his own. But, unfortunately for himself, Mr. Harding had little of this self-reliance. When he heard himself designated as rubbish by the Slopes of the world, he had no other resource than to make inquiry within his own bosom as to the truth of the designation. Alas, alas! The evidence seemed generally to go against him.

Q36) The main cause of Mr. Harding’s unhappiness as he leaves the Bishop’s Palace is

a) the loss of his house 
b) the loss of his position 
c) the need to live with his daughter 
d) the thought-provoking words of the chaplain 
e) the injustice he has suffered

Q37) Mr. Hardings is talking of an era where what matters is only
a) either truth or honesty
b) belonglin to the new school in Politics or religion
c) Success as a Touchstone
d) not to make fun of the established
e) all of the above.

Q38) The word ‘equanimity’ (line 20) most nearly means
a) status 
b) happiness 
c)justice 
d)complacency 
e) composure

Q39) It can be inferred that Mr Harding is especially disturbed because he
a) does not feel himself to be old 
b) is offended by the young man’s impertinence 
c) believes no one else feels as he does 
d) believe his life’s work has been worthwhile 
e) feels there may be some truth in regarding himself as ‘rubbish’

Q40) Mr. Harding differs from others of his ‘school’ (line 23) because they
a) do not believe Slope 
b) have never been called ‘rubbish’ 
c) are sure their conduct is irreproachable 
d) have already examined their consciences 
e) feel that Mr. Harding is not one of them


♦    What does static variable mean?

♦     What is a pointer?

♦    What is a structure?

♦     What are the differences between structures and arrays?

♦     In header files whether functions are declared or defined?

♦     What are the differences between malloc() and calloc()?

♦     What are macros? what are its advantages and disadvantages?

♦     Difference between pass by reference and pass by value?

♦     What is static identifier?

♦     Where are the auto variables stored?

♦     Where does global, static, local, register variables, free memory and C Program instructions get stored?

♦     Difference between arrays and linked list?

♦     What are enumerations?


♦     What is a class?

♦     What is an object?

♦     What is the difference between an object and a class?

♦     What is the difference between class and structure?

♦     What is public, protected, private?

♦     What are virtual functions?

♦     What is friend function?

♦     What is a scope resolution operator?

♦     What do you mean by inheritance?

♦     What is abstraction?

♦     What is a data structure?

♦     What does abstract data type means?

♦     Evaluate the following prefix expression " ++ 26 + - 1324" (Similartypes can be asked)

♦     Convert the following infix expression to post fix notation ((a+2)*(b+4)) -1 (Similar types can be asked)

♦     How is it possible to insert different type of elements in stack?

♦     Stack can be described as a pointer. Explain.

♦    Write a Binary Search program

♦     What is the difference between an Abstract class and Interface?

♦     What is user defined exception?

♦     What do you know about the garbage collector?

♦     What is the difference between java and c++?

♦     In an HTML form I have a button which makes us to open another page in 15 seconds. How will you dothat?

♦     What is the difference between process and threads?

♦     What is update method called?

♦     Have you ever used HashTable and Directory?

♦     What are statements in Java?

♦     What is RMI?

♦     Explain about RMI Architecture?

♦     What are Servelets?

♦     What is the use of servlets?

♦     Explain RMI Architecture?

♦     How will you pass values from HTML page to the servlet?

♦     How do you load an image in a Servelet?

♦     What is purpose of applet programming?

♦     How will you communicate between two applets?

♦     What are the basic functions of an operating system?

♦     Explain briefly about, processor, assembler, compiler, loader, linker and the functions executed by them.

♦     What are the difference phases of software development? Explain briefly?

♦     Differentiate between RAM and ROM?

♦     What is DRAM? In which form does it store data?

♦     What is cache memory?

♦     What is hard disk and what is its purpose?

♦     Differentiate between Complier and Interpreter?

♦     What are the different tasks of Lexical analysis?

♦     What are the different functions of Syntax phase, Sheduler?

Working at TCS - Why Should I Join TCS?

The work environment at TCS is built around the belief of growth beyond boundaries. Some of the critical elements that define our work culture are global exposure, cross domain experience, and work-life balance. Each of these elements goes much deeper than what it ostensibly conveys. The TCS employer brand positioning builds on our strengths and communicates TCS as an organization that offers its employees a complete Global IT Career by highlighting the three main value propositions: Global exposure, Freedom to work across domains, Work life balance.

 

TCS Previous years Technical Hr and Aptitude questions with answers



TCS Placement Paper 2012:-
1. Which Is The Smallest No Divides 2880 And Gives A Perfect Square?
A.1
B.2
C.5
D.6
Ans: C

2. Two Bowls Are Taken, One Contains Water And Another Contains Tea Equal Amount . One Spoon Of Water From 1st Is Added To second Bowl And Mixed Well, And A Spoon Of Mixture Is Taken From Second Bowl And Added To The 1st Bowl. Which Statement Will Hold Good For The Above?
{
Thought Process :
Water Bowl Tea Bowl
100 100
90w (+10w= Spoon Volume) 100tea+10water
90w+ (10*10/11)Tea+ 10/11 W 100t- (10*10/11) T
+ 10w- 10/11w
(1st Bowl’s Water Volume Is Equal To 2nd Bowls Tea Volume)

3. Form 8 Digit Numbers From By Using 1, 2,3,4,5 With Repetition Is Allowed And Must Be Divisible By 4?
A.31250
B.97656
C.78125
D.97657
Ans: C

4. Rearrange And Categorize The Word ‘Rapeteka’?
Ans: Bird

5. One Problem On (785^3-235^3)/(785^2+785*235+235^2)
Ans: You Are Free To Carry A Calculator With You But You Should Not Use It To Solve This Kind Of Problem.
Because It Is Simple:
A3-b3 / A2+ab+b2
Ans Is : A-b Here 785-235= 550 That's It.

6. In School There Are Some Bicycles And 4 Wheeler Wagons. One Tuesday There Are 190 Wheels In The Campus. How Many Bicycles Are There?
Ans: 15
Thought Process : B*2+w*4=190 I.E. , B+2w=95 Now See U Can Not Solve 2 Unknowns From 1 Equation, So Just Plot Options Here To Get The Right Answer And Verify If You Are Getting Integers As Values Of B And W.

7. There Are Two Persons Paul And Jay .Paul Lies On Monday, Tuesday, Wednesday And The Remaining Days He Speaks Truth. Jay Lies On Thursday, Friday, Saturday And The Remaining Days He Speaks Truth. Once They Meet Each Other, In Their Conversation Paul Says That Yesterday Is The Day One Among Those I Lie. Jay Also Says That Yesterday I Also Lie. What Is That Day?
A) Sunday.
B) Tuesday.
C) Thursday.
D) Wednesday
[Thought Process: Now This Day Cannot Be Sunday Because In Monday Paul Speaks Truth And Sunday Everyone Tells Truth. So It Must Be Weekdays. Again, Tuesday Can Not Possible Because Monday And Tuesday Paul Speaks Truth. In Case Of Thrust Day, Paul Speaks Lie And Wednesday He Speaks True. And Joy Speaks Truth In Thursday And He Speak Lies In Wednesday. So, Thursday Is The Answer.

8. A Father Has 7 Penny’s With Him And 1 Water Melon Is For 1p, 2chickoos For 1p, 3 Grapes Foe 1p. He Has Three Sons. How Can He Share The Fruits Equally?
Ans: 1 Watermelon, 2chickoos, 1grape

9. (1/2) Of A Number Is 3 Times More Than The (1/6) Of The Same Number?
Ans: 9

10. There Are Two Pipes A And B. If A Filled 10 Liters In Hour B Can Fills 20 Liters In Same Time. Likewise B Can Fill 10, 20, 40, 80,160…. If B Filled In (1/16) Th Of A Tank In 3 Hours, How Much Time Will It Take To Fill Completely?
Ans: 7 Hours

11.A certain pump can drain a full 375-gallon tank in 15 minutes. At this rate, how many more minutes would it take to drain a full 600-gallon tank?
(A) 9
(B) 15
(C) 18
(D) 24
(E) 25

12. If n is an even integer, which of the following must be an odd integer?
(A) 3n-2
(B) 3(n+1)
(C)n-2
(D)n/3
(E)n^2

13. Cindy has a collection of 80 records. If 40 percent of her records are jazz records, and the rest are blues records, how many blues records does she have?
(A) 32
(B) 40
(C) 42
(D) 48
(E) 50

14. Express 2,750,389 in scientific notation.
(A) 27.50389 x 105
(B) 275.0389 x 103
(C) 27.50389 x 106
(D) 0.2750389 x 107
(E) 2.750389 x 106

15. A rectangle and a triangle have equal areas. The length of the rectangle is 12 inches, and its width is 8 inches. If the base of the triangle is 32 inches, what is the length, in inches, of the altitude drawn to the base?
(A) 6
(B) 8
(C) 9
(D) 12
(E) 16

16. If the area of a triangle is 24 and its base is 6, what is the length of the altitude to that base?
(A)3
(B)6
(C)8
(D)10
(E)unknown

17.Lenny's average score after 3 tests is 88. What score on the 4th test would bring Lenny's average up to exactly 90?
(A)92
(B)93
(C)94
(D)95
(E)96

18. If an integer is divisible by 6 and by 9, then the integer must be divisible by which of the following?
A. 12
B. 18
C. 24
D. 36
E. 54

19.If Jeff and Jimmy have less than 22 dollars between them, and Jeff has 8 dollars, which of the following could be the number of dollars that Jimmy has?
I.12
II. 14
III. 16
A. I only
B. III only
C. I & III.
D. I & II
E. Neither I, II, nor III are correct

20.Stephanie drove at an average rate of 50 miles per hour for two hours and then increased her average rate by 50% for the t 3 hours. Her average rate of speed for the 5 hours was t miles per hour. What is the value of t?
A. 55 mph
B. 60 mph
C. 65 mph
D. 70 mph
E. 75 mph

21. How many complete tanks of water, each with a capacity of 3 cubic meters, are needed to fill an empty cylindrical tank whose height is 3 meters and whose base has a radius of 2 meters?
A) 12
B) 13
C) 14
D) 15
E) 16

22. Any serious policy discussion about acceptable levels of risk in connection with explosions is not well served if the participants fail to use the word “explosion” and use the phrase “energetic disassembly” instead. In fact, the word“explosion” elicits desirable reactions, such as a heightened level of attention, whereas the substitute phrase does not. Therefore, of the two terms, “explosion” is the one that should be used throughout discussions of this sort. Which of the following is an assumption on which the argument above depends?


(A) In the kind of discussion at issue, the advantages of desirable reactions to the term “explosion” outweigh the drawbacks,if any, arising from undesirable reactions to that term.
(B) The phrase “energetic disassembly” has not so far been used as a substitute for the word “explosion” in the kind of discussion at issue.
(C) In any serious policy discussion, what is said by the participants is more important than how it is put into words.
(D) The only reason that people would have for using “energetic disassembly” in place of “explosion” is to render impossible any serious policy discussionconcerning explosions.
(E) The phrase “energetic disassembly” is not necessarily out of place in describing a controlled rather than an accidental
explosion

23. A certain shade of gray paint is obtained by mixing 3 parts of white paint with 5 parts of black paint. If 2 gallons of the mixture is needed and the individual colors can be purchased only in one-gallon or half- gallon cans, what is the least amount of paint, in gallons, that must be purchased in order to measure out the portions needed for the mixture?
(A) 2
(B) 2 ½
(C) 3
(D) 3 ½
(E) 4

24. To buy a computer system, a customer can choose one of 4 monitors, one of 2 keyboards, one of 4 computers and one of 3 printers. Determine the number of possible systems that a customer can choose from.
(A) 96
(B)98
(C)98.5
(D) 94
(E)100

25. A student can select one of 6 different mathematics books, one of 3 different chemistry books and one of 4different science books. In how any different ways can a student select a book of mathematics, a book of chemistry and a book of science?
A) 14
(B)12
(C)72
(D) 74
(E)76
 

